               College English Practice Test 1

                       Band 4

Part I Listening Comprehension

 1. a. At 10:00.                  b. At 10:30.

   c. At 10:45.                  d. At 11:15.

 2. a. Yes.                      b. No.

   c. The woman doesn't know.    d. The man doesn't know.

 3. a. She is on the train.

   b. She's looking at a time table.

   c. She needs to buy a map.

   d. She's taking pictures.

 4. a. He enjoys playing chess.

   b. He hates playing chess.

   c. He cannot play chess.

   d. He is not a good student.

 5. a. Husband and wife.

   b. They are dating each other.

   c. Teacher and student.

   d. Manager and his secretary.

 6. a. 11:45.               b. 12:00.

   c. 1:15.                d. 12:45.

 7. a. He lost it.          b. He used it last night.

   c. He was the last to use it. 

   d. He finally brought it back.

 8. a. The novel wasn't that difficult to read.

   b. She couldn't remember the author's name.

   c. There were many funny characters.

   d. She read it a long time ago.

 9. a. He's busy, but he's making a lot of money.

   b. He has too much to do in too little time.

   c. He knows things will be better in a few minutes.

   d. He is having a wonderful time doing lots of things.

10. a. The team has to travel far for the next game.

   b. The new coach has been very effective.

   c. The new coach doesn't know the team very well.

   d. The team shouldn't enroll any more members.

11. a. They get close to nature.

   b. They are usually healthier than city people.

   c. They get better and cheaper farm products.

   d. They are politer than city people.

12. a. They breathe fresh air.

   b. They don't have disease common in cities.

   c. They are in close touch with nature.

   d. They eat a lot of fresh vegetables.

13. a. They make a lot of promises without carrying them out.

   b. They speak their minds.

   c. They breathe more fresh air.

   d. They assume polite manners.

14. a. From Americans.           b. From Germans.

   c. From CentralAsianpeople.   d.They invented it themselves.

15. a. In Central Asia.            b. In Germany.

   c. In America.               d. Both a and b.

16. a. It could be eaten from hands.

   b. It was the same as sandwich.

   c. It was rolled in a steak.

   d. Its meat was cooked.

17. a. the process of hamburger-making

   b. the popularity of the hamburger

   c. the origin and development of the hamburger

   d. the influence of the hamburger

18. a. jump more than a few feet into the air.

   b. jump only a few feet into the air.

   c. jump in a curve for a few feet.

   d. jump in a curve for more than a few feet.

19. a. in a straight line.        b. in a curved line.

   c. a long distance before it fell back to the ground.

   d. a short distance before it fell back to the ground.

20. a. he has no rocked engine in his hand.

   b. he could not throw it fast enough.

   c. he could not make the ball small enough.

   d. he could not throw the ball in a straight line.

Part II Reading Comprehension

    The appearance in Glasgow of the largest yearly exhibition of children's books in Britain will give a wonderful opportunity for Scottish people to see and buy the latest books for children as well as old favourites, both hardback and paperback. The age-range covered will stretch from wordless picture books for the youngest to almost-adult novels.

    In its early years, the Children's Book Show was intended for specialist visitors, mainly teachers and librarians. As it became more widely known and successful, however, family and school parties began to come in ever-increasing numbers, so that it grew into a real children's book show, and a show with a double purpose. For years it was held in various halls in London, outgrowing each of them in turn until, in answer tone thusiastic invitations to bring it to different parts of the country, the decision was taken to move outside the capital,despite the difficulties that would result. One year it was held in Leeds, then in Bristol as well as in London, and now it comes to Glasgow.

    The great success of this move to bring the show to cities many miles from London, where of course most book publishers are, has been largely due to the support given to the organizing committee by local booksellers, librarians, teachers, parents and others. This year's show will again interest both the general public and specialists. Admission will be free, but school parties must be booked for in advance. In a large room near the entrance there will be a self service bookshop where every book on show will be for sale.

21. The books at the exhibition are suitable for ______.

    a. pre-school children only

    b. teenagers only

    c. Glasgow children only

    d. children of all ages

22. The visitors to the show now include ______.

    a. teachers and librarians

    b. children from families and schools

    c. both a and b

    d. neither a nor b

23. Over the past years the floor space of the book show_____.

    a. became larger and larger

    b. became smaller and smaller

    c. maintained its original small size

    d. maintained its original large size

24. The great success of the move out of London is mainly due
    to ______.

    a. the support of most publishers

    b. the people in various parts of the country

    c. the organizing committee

    d. the Scottish people in particular

25. Which of the following best states the main idea of the
    passage?

    a. The success of the book show in Glasgow.

    b. The success of the children book show.

    c. The expansion of the book show all over the country.

    d. The influence of the book show on children of all ages.

    Trees are useful to man in three very important ways: they provide him with wood and other products; they give him shade; and they help to prevent droughts and floods.

    Unfortunately, in many parts of the world, man has not realized that the third of these services is the most important. In his eagerness to draw quick profit from the trees, he has cut them down in large numbers, only to find that without them he has lost the best friends he had. Two thousand years ago a rich and powerful country cut down its trees to build warships, with which to gain itself an empire. It gained the empire but, without its trees, its soil became hard and poor. When the empire fell to pieces, the home country found itself faced by floods and starvation.
    Even though a government realizes the importance of a plentiful supply of trees, it is difficult for it to persuade the villager to see this. The villager wants wood to cook his food with; and he can earn money by making charcoal or selling wood to the townsman. He is usually too lazy or too careless to plant and look after new trees. So, unless the government has a good system of control, or can educate the people, the forests will slowly disappear.

    This does not only mean that the villagers' sons and grandsons have fewer trees. The results are even more serious: for where there are trees their roots break the soil up allowing the rain to sink in  and also bind the soil, thus preventing its being washed away easily; but where there are no trees, the rain falls on hard ground and flows away from the surface, causing floods and carrying away with it the rich topsoil, in which crops grow so well. When all the top-soil is gone, nothing remains but a worthless desert.

26. What is the most important function of trees?

    a. Providing fuel.              b. Offering shade.

    c. Preventing natural disasters.   d. Providing charcoal.

27. What eventually happened to the rich, powerful country 2000
    years ago?

    a. Its people died of hunger.

    b. It fell to pieces.

    c. It became a giant empire.

    d. It built many ships with wood.

28. It is implied in the passage that the villager ______.

    a. wants a plentiful supply of trees

    b. wants fire wood

    c. wants to get money

    d. is not aware of the importance of environmental 
      protection

29. The role of trees is to ______.

    a. loosen soil               b. keep soil in position

    c. harden soil               d. both a and b.

30. What is the passage mainly concerned with?

    a. The three benefits provided by trees.

    b. Trees and soil conservation.

    c. The various uses of trees.

    d.The different attitudes of the government and the   

      villagers toward trees.

    Television that most widespread and persuasive of modern technologies, marked by rapid change and growth is moving into a new era, an era of extraordinary sophistication and diversity(the quality of being diverse), which promises tore shape our lives and our world. It is an electronic revolution, made possible by the marriage of television and computer technologies.

    The word 'television', derived from its Greek(tele: distant)

and Latin(visio: sight) roots, can literally be interpreted as sight from a distance. Very simply put, it works in this way: through a sophisticated system of electronics, television provides the capability of converting an image(focused on a special photo conductive plate within a camera) into electronic impulses, which can be sent through a wire or cable. These impulses, when fed into a receiver(television set), can then be electronically reorganized into that same image.

    Television is more than just an electronics system, however. It is a means of expression, as well as a vehicle for communication, and as such becomes a powerful tool for reaching other human beings.

    The field of television can be divided into two categories determined by its means of transmission. First, there is broadcast television, which reaches the masses through airwave transmission of television signals. Second, there is nonbroadcast television, which provides for the needs of individuals or specific interest groups through controlled transmission techniques.
    Traditionally, television has been a medium of the masses. We are most familiar with broadcast television because it has been with us for about thirty-seven years in a form similar to that exists today. During those years, it has been controlled, for the most part, by the broadcast networks, ACB, NBC, and CBS, who have been the major providers of news, information, and entertainment. These giants of broadcasting have actually shaped not only television but our perception of it as well. We have come to look upon the picture tube as a source of entertainment, placing our role in this dynamic medium as the passive viewer.
31. What seems to be the best title for the passage?

    a. A Powerful Tool of Entertainment.

    b. The Means of Transmission of TV.

    c. TV: Its Working Principles and Functions.

    d. A brief Introduction to the Development of TV.

32.The rapid change and growth of TV is due to the  

   contributions of _______.

    a. computer technologies

    b. a new means of transmission

    c. a powerful vehicle of communication

    d. TV giants like ABC, NBC and CBS

33. What is the use of the second means of transmission?

    a. To meet the requirements of people especially interested  

       in non broadcast program.

    b. To meet the requirements of certain groups of people.

    c. To meet the requirements of people with a special 

      interest in cable TV.

    d.To meet the requirements of people interested in 

      controlled transmission techniques.

34. The underlined "very simply put" in Paragraph 2 means____.

    a. when it is simply put down

    b. when it is put to simple tasks

    c. if it is put to simple tasks

    d. if it is expressed in a simple way

35. What is NOT the reason for TV to be powerful?

    a. It highlights broadcasting giants.

    b. It can communicate to human beings.

    c. It provides recreational programs.

    d. It provides news programs.

    Our boat floated on, between walls of forest too thick to allow us a view of the land we were passing through, though we knew from the map that our river must from time to time be passing through chains of hills which crossed the jungle plains. Nowhere did we find a place where we could have landed, where the jungle did not actually spread right down into the river, banks of soft mud prevented us going ashore. In any case, what would we have gained by landing? The country was full of snakes and other dangerous creatures, and the jungle so thick that one would be able to advance only slowly, cutting one's way with knives the whole way. So we stayed in the boat, hoping that when we reached the sea, a friendly fisherman would pick us up and take us to civilization.

   We lived on fish, caught with a home-made net of string(we had no hooks), and any fruit and nuts we could pick up out of the water. As we had no fire, we had to eat everything, including the fish, raw. I had never tasted raw fish before, and I must say I did not much enjoy the experience: perhaps sea-fish which do not live in the mud are less tasteless. After eating my raw fish, I lay back and dreamed of such things as fried chicken and rice, and ice-cream. In the never ending damp heat of the jungle, ice-cream was a particularly frequent dream.

    As for water, there was a choice: we could drink the muddy river water, or die of thirst. We drank the water. Men who have just escaped what had appeared to be certain death lose all worries about such small things as diseases caused by dirty water. In fact, none of us suffered from any illness as a result.

    One day we passed another village, but fortunately nobody saw us. We did not wish to risk being taken prisoners a second time: we might not be so lucky as to escape in a stolen boat again.

36. It can be inferred from the passage that they had been in 

    ______.

    a. an uninhabited area        b. an enemy country

    c. a primitive area           d. a hunting ground

37. According to the passage, they would NOT go ashore where ___.

    a. trees reached the river

    b. the river side was covered with soft mud

    c. they could not find human help

    c. they could not find enemies

38. What did they do on the river bank?

    a. They killed snakes.   

    b. They had to cut their way forward

    c. They found a boat.

    d. They did not go ashore.

39. According to the author, _______.

    a. sea fish tasted better than fish in muddy water

    b. sea fish tasted worse than fish in muddy water

    c. sea fish in muddy water were tasteless

    d. sea fish in muddy water were less tasteless

40. Why did the author drink the river water?

    a. Because the water was free from germs.

    b. Because they had experienced something worse.

    c. Because they were not likely to be affected by disease.

    d. Because they were too healthy to fall ill.

Part III Vocabulary and Structure

41. That tourist spoke English with a strong American ______.

    a. accident            b. accent

    c. absence            d. access

42. He described one of the airlines which ______ on display.

    a. are                b. had

    c. was               d. were

43. The red lines on the map _______ railways.

    a. represent for       b. present

    c. stand for          d. stand

44. There seems to be no alternative but _______ the offer.

    a. accept            b. to accept

    c. accepting         d. having accepted

45. What's your attitude _______ his criticism?

    a. against            b. for

    c. towards           d. in

46. _______, the gas becomes hotter and hotter.

    a. Compressing       b. Compressed

    c. Being compressed  d. To be compressed

47. Although his face was quite familiar to me, I could not ____

    his name.

    a. think out         b. think of

    c. think about       d. think up

48. A small child has to learn to keep its ______ before it can  

   walk far.

    a. baggage           b. block

    c. border            d. balance

49. Born and bred in a noble family, he is not used to ______

    like this.

    a. speak to          b. be spoken

    c. be spoken to      d. being spoken to

50. He talked for almost an hour at the meeting, but what he said 

   was not _____.

    a. to the point      b. for the point

    c. at the point      d. with the point

51. By the end of next year the new project _____ completed.

    a. will have been    b. will be

    c. have been         d. can be

52. He was ______ the prize for being the fastest runner.

    a. awarded           b. rewarded

    c. won               d. succeeded

53. I ______ the money yesterday, because I had enough money to

   buy the cheaper products.

    a. needn't borrow    b. needn't have borrowed

    c. need not borrow   d. have not needed to borrow

54. The tourists were _______ by the beautiful scenery at the 

   West Lake.

    a. charged           b. charmed

    c. cheated           d. chilled

55. It was required that the manufacturer ______ out the design 

   immediately.

    a. worked            b. would work

    c. work              d. works

56. Is the new secretary ______ with her job?

    a. contend           b. contended

    c. content           d. contented

57. If I had a car of my own, I ______ it to your sister yesterday.

    a. will lend         b. would lend

    c. should lend       d. would have lent

58. ______ are better than words when people are in need of help.

    a. Deeds             b. Reeds

    c. Activities         d. Behaviours

59. He said that it was indeed the case; he was mistaken, ______.

    a. though            b. although

    c. therefore          d. thus

60. After a series of failures, the truth began to _____ him.

    a. dawn to           b. dawn on

    c. light for           d. light in

61. Although, Tom has a lot of difficulty, he ought to finish his work 

   in time, ______?

    a. ought he          b. shouldn't he

    c. should he         d. wouldn't he

62. It is sometimes claimed that America is a ______ pot of

    different races.

    a. burning           b. burnt

    c. melting           d. melted

63. Only when you have acquired a good knowledge ______ fulfil 

   the task.

    a. you may           b. should you

    c. can you           d. you can

64. ______ is difficult on this river because of the numerous 

   rocks.

    a. Navy              b. Sail

    c. Aviation          d. Navigation

65. You may depend upon ______ that the project will be 

    completed in time.

    a. that              b. which

    c. what              d. it

66. Did it ever ______ you that you could have started earlier?

    a. think             b. thought by

    c. occur to          d. belong to

67. ______ is often the case, we have over fulfilled the

    production plan.

    a. As                b. This

    c. What              d. That

68. Although he quickened his pace, he was still ______ a storm

    on his way home.

    a. taken by          b. taken in

    c. overtaken by      d. overtaken in

69. He had scarcely left the railway station ______ it started to rain.

    a. than              b. then

    c. when              d. since

70. "Did you see the magazine I bought yesterday?" "Yes, I saw 

   it ______ here just a little while ago."

    a. to lie            b. lay

    c. laying            d. lying

Part IV Cloze

    An unending flow of private and public criticism suggests that the people of the United States suffer ( 71 ) government, national,  state and local, ( 72 ) is corrupt and inefficient. The criticism reflects the ( 73 ) standards which the Americans have ( 74 ) as their ideals.       The political system has provided the ( 75 ) for a society adapting   itself ( 76 ) continuing rapid change ( 77 ) a scale never seen anywhere before, to immigration, to the development of the west, to the ( 78 ) of new technology, and to spontaneous economic ( 79 ). At the same time it has, ( 80 ) the whole, avoided oppression and provided the means of expressing ( 81 ) well the wishes of this huge and( 82 ) population, so that violent discontents have been ( 83 ).   Finally, it has provided the ( 84 ) for the United States to be a world ( 85 ) on a scale that has not been ( 86 ) before, using its power for influence, ( 87 ) conquest. ( 88 ) have been mistakes and tragedies, but ( 89 ) by the standard of human society as a whole they have been ( 90 ), and overshadowed by successes.

71. a. at          b. in         c. with         d. from

72. a. that        b. which      c. it            d. as

73. a. right       b. low        c. high          d. strange

74. a. set        b. put         c. made         d. got

75. a. rules       b. rulers      c. exceptions     d. except

76. a. for        b. with        c. at            d. to

77. a. at         b. on         c. for           d. with

78. a. attendance  b. access      c. absorption     d. attraction

79. a. decline     b. failure      c. increasing     d. growth

80. a. on         b. for        c. at            d. with

81. a. fair        b. quiet       c. reasonably    d. occasionally

82. a. various     b. varied     c. varying        d. varied

83. a. regular     b. irregular  c. exceptional  d. excepted

84. a. ends       b. means      c. victory       d. success

85. a. power      b. country      c. nation       d. machine

86. a. met        b. encountered  c. heard        d. known

87. a. rather     b. instead    c. not         d. for

88. a. They      b. There     c. That       d. Powers

89. a. Judged    b. judging    c. thought     d. thinking

90. a. plentiful   b. adequate   c. little       d. rare

Part V Writing

Directions: For this part you are allowed 30 minutes to write a composition in no less than 100 words on the following topic given in Chinese:

请谈大学英语四级考试的优点与不足之处, 最后给出你的结论.

You can write the composition in three paragraphs. Remember to write it neatly.

Part III Translation from English into Chinese

1. Para. 2, Passage 1

2. Para.2, Passage 2

3. Para.4, Passage 3

4. Pare.5, Passage 3

5. Para.3, Passage 4

Key to text 3

 1- 5 c  d  b  a  b     6-10 d  c  a  b  b

11-15 d  c  b  c  d    16-20 a  c  b  a  b

21-25 d  c  a  b  b    26-30 c  b  d  d  b

31-35 c  a  b  d  a    36-40 c  b  d  a  b

41-45 b  d  c  b  c    46-50 c  b  d  d  a

51-55 a  a  b  b  c    56-60 c  d  a  a  b

61-65 b  c  c  d  d    66-70 c  a  c  c  d

71-75 d  b  c  a  a    76-80 d  b  c  d  a

81-85 c  b  c  b  a    86-90 d  c  b  a  d

_

                   College English Practice Test 2

                            Band 4

Part I Listening Comprehension

 1. a. He has some work to do.

   b. The woman is going to do that.

   c. His boss is coming to see him.

   d. He doesn't feel like eating any bread today.

 2. a. She would have something more important to do.

   b. She had to meet a friend of hers.

   c. She was not in the mood to attend the party.

   d. She was afraid she might be kept to late.

 3. a. 70.                   b. 85.

   c. 64.                   d. 31.

 4. a. He can't find his new apartment.

   b. He had a bigger apartment before.

   c. He finds the new apartment too big for him.

   d. He is having a hard time finding an apartment.

 5. a. No medicine could solve the woman's problem.

   b. The woman should eat less to lose some weight.

   c. Nothing could help the woman if she ate too little.

   d. The woman should choose the right food.

 6. a. Took a photo of him.     b. Bought him a picture.

   c. Held a birthday party.   

d. Bought him a frame for his picture.

 7. a. He has edited three books. 

   b. He has bought the wrong book.

   c. He has lost half of his money.

   d. He has found the book that will be used.

 8. a. The man thinks the woman is wasting her time.

   b. The man thinks the woman should make full use of her time.

   c. The man is eager to know the woman's answer.

   d. The man can wait and there is no need for her to hurry.

 9. a. On the 6th of June.      b. On the 8th of June.

   c. On the 9th of June.      d. On the 19th of June.

10. a. It was pretty good.      b. It was rather dull.

   c. It was not well organized. 

   d. It was attended by many people.

11. a. Because many people don't know how to behave in social       situations.

   b. Because most people are shy by nature.

   c. Nobody will laugh at you for being shy.

   d. Shyness is difficult to overcome.

12. a. By prediction.           b. By recording.

   c. Through observation.     d. Through interviewing.

13. a. To observe people's attitude towards strangers.

   b. To see how people get along with their friends.

   c. To change people's behaviour in social life.

   d. To find out how shy people are.

14. a. He was a doctor.         b. He was a writer.

   c. He was an actor.         d. He was a teacher.

15. a. Press certain points around the eyes with the fingers.

   b. Look at distant objects by moving the eyes from side to side.

   c. Do outdoor exercises daily.

   d. Stare at a calendar on the classroom wall.

16. a. To read the book by the famous British writer.

   b. To cover their eyes during a period of intensive reading 

   c. To visit doctors of traditional Chinese medicine.

   d. To relax their eyes frequently while reading.

17. a. Buses and trains are too crowded.

   b. A person can move around freely.

   c. It is easy to maintain cars.

   d. A driver is usually safe in his car.

18. a. The car might get stolen if parked on the street.

   b. You might have an accident sooner or later.

   c. Cars will easily break down because of poor quality.

   d. It is dangerous to drive alone late at night.

19. a. $ 15.                     b. $ 150.

   c. $ 50.                     d. $ 115.

20. a. The good reasons for owing a car.

   b. Why a person should own a car.

   c. Traffic accidents caused by car drivers.

   d. Advantages and disadvantages of owing a car.

Part II Reading Comprehension:

    If an animal is moved from its home in the tropics to cold climate, it will die if it is not kept warm. And animals accustomed to cold climates will die if they are moved to the tropics. Many plants, too, will die if they are removed from the place where they normally grow and are transplanted into an unfamiliar soil. Almost every species is adapted to life in a particular place by its organs and their functions and by its permanent habits. The specialized adaptation has great advantages. For it enables many organisms to survive under different conditions. It also has disadvantages, for it means that the life of most species is controlled by local conditions.

    Living things are not scattered over the earth at random; most species have definite habits for living places. Ecology is the study of how organisms live in their environment. This means finding out how an organism survives and reproduces in certain surroundings. By environment we mean not only the soil and the climate but the living things of the same species and other species, plant or animal.

    Most living things are slaves to their environment. Some can alter certain features of their environment to suit themselves; a beaver(海狸), for example, can make ponds by building dams; many birds and insects can build elaborate nests to provide shelter for their young. But these skills are restricted and highly specialized. Most organisms must adapt their bodies to fit in with their surroundings, and since they can adapt only for particular surroundings, they are found only in places where they can live successfully with the least effort.
    Plants find these favourable places by trial and errors.The wind carries their seeds and apores great distances. If the seeds land in a favourable environment they grow and reproduce. If they are deposited in an unfavourable environment they die.Animals, on the other hand, search until they find a favourable environemnt.

21. The man idea of this passage can be summarized as:______.

    a. Different habits of animals and plants.

    b. Living things and their surroundings

    c. Plants and animals: slaves of their surroundings

    d.Animals' ability to adapt themselves to their surroundings

22. What is meant by adaptation?

    a. The ability of living things to survive in a particular place under difficult conditions.

    b. The control of most species of living things by local

       conditions.

    c. The ability of living things to get familiar with their

       surroundings.

    d. The permanent habits of most living things.

23. Living things can adapt themselves to their surroundings mainly

   through ______.

    a. their organs and the organs' specific functions

    b. their specialized permanent habits

    c. their least effort in living conditions

    d. Both a and b

24. Animals are different from plants mainly in that ______.

    a. they can more or less alter their surroundings

    b.their organs are highly specialized to their surroundings.

    c. they are looking for a favourable environment for their

      survival

    d. they usually have their own local living conditions

25. Implied but not stated.

    a. Animals are not completely restricted or confined to their

      surroundings.

    b. Plants are completely confined to their surroundings.

    c. Surroundings sometimes can easily be altered by animals.

    d. The specialized adaptation is very important for animals,

       plants as well as human beings.

    Very old people do raise moral problems for almost everyone who comes into contact with them. Their values this can't be repeated to often are not necessarily our values. Physical comfort, cleanness and order are necessarily the most important things. The social services from time to time find themselves faced with a flat with decaying food covered by small worms, and an old person lying alone on bed, taking no notice of the worms. But is it interfering with personal freedom to insist that they go to live with some of their relatives so that they might be taken better care of? Some social workers, the ones who clear up the worms, think we are in danger of carrying this concept of personal freedom to the point where serious risks are being taken with the health and safety of the old.

    Indeed, the old can be easily hurt or harmed. The body is like a car: it needs more mechanical maintenance as it gets old. You can carry this comparison right through to the provision of spare parts. But never forget that such operations are painful experiences, however good the results. And at what point should you cease to treat the old body? Is it morally right to try to push off death by pursuing the development of drugs to excite the forgetful old mind and to activate the old body, knowing that it is designed to die? You cannot ask doctors or scientists to decide, because so long as they can see the technical opportunities, they will feel bound to give them a try on the principle that while there's life, there's hope.

When you talk to the old people, however, you are forced to the conclusion that whether age is happy or unpleasant depends less on money or on health than it does on your ability to have fun.

26. It is implied in Paragraph 1 that _______.

    a. very old people enjoy living with their relatives

    b. social services have nothing to do with very old people

    c. very old people would like to live alone so that they

      can have more personal freedom

    d. very old people are able to keep their rooms very clean

27. Some social workers think that _______.

    a. health and safety are more important than personal freedom

    b. personal freedom is more important than health and safety

    c. old people should keep their rooms clean

    d. one should not take risks of dealing with old people

28. In the author's opinion, _______.

    a. the human body can't be compared to a car

    b. the older a person, the more care he needs

    c. too much emphasis has been put on old people's values

    d. it is easy to provide spare parts for old people

29. The word "it" in the last paragraph refers to _______.

    a. the conclusion you have come to

    b. your talk to the old people

    c. whether age is happy or unpleasant

    d. one's money or one's health

30. The author thinks that ________.

    a. medical decisions for the old people should be left to

       the doctors.

    b. old people can enjoy a happy life only if they are very rich

    c. the opinion that we should try every means possible to save

      old people is doubtful

    d. it is always morally right to treat old people and push of 

      death

Trees should only be pruned when there is a good and clear reason for doing so and, fortunately, the number of such reasons is small. Pruning involves the cutting away of over grown and unwanted branches, and the inexperienced gardener can be enouraged by the thought that more damage results from doing it unnecessarily that from leaving the tree to grow in its own way.

First, pruning may be done to make sure that trees have a desired shape or size. The object may be to get a tree of the right height, and at the same time to help the growth of small side branches which will thicken its appearance or give it a special shape. Secondly, pruning may be done to make the tree healthier. You may cut out diseased or dead wood, or branches that are rubbing against each other and thus causing wounds.The health of a tree may be encouraged by removing the branches that are locking up the centre and so preventing the free movement of air.

    One result of pruning is that an open wound is left on the tree and this provides an easy entry for disease, but it is a wound that will heal. Often there is a race between the healing and the disease as to whether the tree will live or die, or that there is a period when the tree is at risk. It should be the aim of every gardener to reduce the risk as far as possible. It is essential to make the area which has been pruned smooth and clean, for healing will be slowed down by roughness. You should allow the cut surface to dry for a few hours and then paint it with one of the substances available from garden shops produced especially for this purpose. Pruning is usually done in winter, for then you can see the shape of the tree clearly without the interference from the leaves and it is, too, very unlikely that the cuts you make will bleed. If this does happen, it is, of course, impossible to paint them properly.

31. Pruning should be done to ________.

    a. make the tree grow taller

    b. improve the shape of the tree

    c. get rid of the small branches

    d. make the small branches thicker

32. Trees become unhealthier if the gardener ______.

    a. allows too many branches to grow in the middle

    b. does not protect them from the wind

    c. forces them to grow too quickly

    d. damages some of the side branches

33. Why is a special substance painted on the tree?

    a. To make a wound smooth.

    b. To prevent disease entering a wound.

    c. To cover a rough surface.

    d. To help a wound to dry.

34. A good gardener prunes a tree ______.

    a. at intervals throughout the year

    b. as quickly as possible

    c. occasionally when necessary

    d. regularly every winter

35. What was the author's purpose when writing this passage?

    a. To give practical instructions for pruning a tree.

    b. To give a general description of pruning.

    c. To explain how trees develop diseases.

    d. To discuss different methods of pruning.

     Many historians of the twentieth century look back at the fifteenth century and say, "Machiavelli was the first political scientist in history." They say that he looked at politics for the first time with the factual eye of a scientist. He was only interested in the facts. He thought that politics and morality(道德) didn't go together very often, but he studied ideas of right and wrong, along with politics; government leaders, he wrote, could use these ideas to get and keep power.
    In Machiavelli's opinion, the nature of human beings is usually evil, so a good person must always fail. He thought it was important for a political leader to know how to be bad. In fact, Machiavelli saw leaders of government as people above ordinary human beings; so he believed, they are also above ordinary morality. Good and evil, he said, are only ideas that week people use to excuse weakness; powerful people use these ideas to keep other people weak. They can lead because they want power and because they fight for it. Also, these leaders are not usually afraid to leave morality behind, so they don't have ideas of right or wrong to stop them. They think only of power. it is nice, machiavelli said, if political leaders can also be good people, but they must know how to be bad when the time comes.

    Machiavelli said that it is natural to fight for power and that there are two methods people use: law and physical force.The first method is the way of human beings, and the second method is the way of animals. Great political leaders very often use the way of animals, but they usually pretend to use the way of good human beings. They do this to get and keep power.

    People are evil, in machiavelli's opinion, so war and fighting are always in the world; they are a natural part of it. Political leaders know the way of nature, of people, and animals, and they use their knowledge to get what they want.

36. According to the passage, a political scientist is _____.

    a. a person who studies science in a political way

    b. a person who studies politics and science at the same time

    c. a person who studies politics in a scientific way

    d. a person who knows politics as well as science

37. It can be inferred from the passage that ______.

    a. Machiavelli was interested in facts and opinions

    b. Morality and politics went together very often

    c.Machiavelli looked at science with the eye of a politician

    d. Machiavelli studies politics and ideas of right and wrong.

38. According to the passage, in the opinion of Machiavelli, ____.

    a. human beings are usually bad and are certain to fail

    b. it is important for a political leader to know the nature of 

      humans

    c. political leaders are special human beings and have different

      morality

    d. powerful people use ideas of right and wrong to control

      themselves

39. Which of the following is NOT true according to the passage?

a. Weak people use ideas of good and evil to excuse weakness

    b. Powerful people are afraid to desert morality.

    c. Powerful people should know how to be bad.

    d. Powerful people use ideas of good and evil to control 

      weak people.

40. It is implied in the passage that _______.

    a. political leaders often use physical force to fight for power

    b. political leaders pretend to be bad to keep other people

       weak

    c. political leaders know how to get what they desire as

       animals do

    d. wars are likely to occur so long as evil leaders exist.

Part III Vocabulary and Structure

41.George is always ________ when fighting against difficulties.

    a. in his best            b. at his best

    c. with his best          d. for his best

42. I wish I _______ to the movies with you last night.

    a. have gone            b. could go

    c. could have gone       d. went

43. There is nothing we can do ________ as calmly as we can.

    a. but to wait           b. but waiting

    c. but wait             d. but waited

44. All flights _______ because of the storm, they decided to

    take the train.

    a. having canceled       b. having been canceled

    c. were canceled        d. have been canceled

45. A book may be compared to the company you keep. If it is good, 

   you cannot keep it _______ long; if bad, you cannot get rid of it

   _______ early.

    a. very...very           b. so...so

    b. as...as               d. too...too

46. "Call me not 'lord', dear Madam; for I am ______ a merchant,

    but of no uncommon birth, " he said.

    a. other than            b. none than

    b. none other than       d. no other than

47. I never go past my old school _______ I think of Mr. Wilkins.

    a. but                  b. while

    c. as                   d. for

48. I must go now. _______, if you want that book I'll bring it 

   next time.

    a. Accidentally           b. Occasionally

    c. Subsequently           d. Incidentally

49. Plastic heart valves and other human "spare parts" have ______ 

   many recent developments in surgery.

    a. been possible           b. become possible

    c. been made possible      d. made possible

50. I am really very busy, otherwise I ______ with you.

    a. certainly go            b. would certainly go

    c. have certainly gone      d. will certainly go

51. I kept my _______ car for twenty years.

    a. first large black foreign   b. first black large foreign

    c. first foreign black large   d. large black foreign first

52. Since she is angry, we ________.

    a. had better leaving her alone 

    b. should leave her alone

    c. might as well leave her alone

    d. had rather leave her alone

53. I am a British citizen, and _______ am entitled to the full

    protection of the law.

    a. so as                 b. as so

    c. such as               d. as such

54. ______ a scientist is being deliberately informal, he will tend to 

   speak like a book when he is explaining science.

    a. Although             b. While

    c. Even if               d. Unless

55. It was unwise of him to ________ the unreliable data in his

    speech.

    a. refer to              b. add to

    c. keep to              d. point to

56. His letter was so confusing that I could hardly make any ______

   of it whatsoever.

    a. meaning              b. message

    c. sense                d. explanation

57. The old gardener used to keep all his tools and do-it-ourself 

   equipment in a ________ in the garden.

    a. stable                b. harn

    c. hut                  d. shed

58. That elderly grey-haired man, who lives next door to me, is a 

    coppersmith _______ trade.

    a. of                   b. in

    c. for                  d. by

59. The security of the passengers is supposed to be seen _____

    by the captain.

    a. to                   b. of

    c. in                   d. over

60.Mr.Lombroso has always ______ strange hobbies like collecting 

   bottle-tops and inventing secret codes.

    a. gone into             b. gone in for

    c. gone by              d. gone along with

61. My sister _______ her shorthand ability by taking notes in shorthand during lectures.

    a. keeps on             b. keeps with

    c. keeps up             d. keeps in

62. This company has the ______ right to print Mr. Green's book 

    a. exclusive             b. virtual

    c. flexible              d. overall

63. Since his retirement, Peter Smith, who was ______ a teacher,

    has written four novels.

    a. lately                 b. usually

    c. formerly              d. already

64. _______ second thoughts, I am inclined to agree with you.

    a. On                   b. By

    c. In                   d. Under

65. The air-to-air missile launching _______ set up by the

   expansionists here and there in the world constitute a serious 

   threat to peace.

    a. bottom               b. basis

    c. bases                d. ground

66. The trade unions in this industry are _______any reduction 

   in wages.

    a. reacted to             b. prevented from

    c. put off                d. opposed to

67. The movements of a clock are _______ and that is why we can

   use it to measure time.

    a. regular               b. punctual

    c. smooth               d. continuous

68. He advised his son never to spend _______ his income.

    a. in excess of            b. in line of

    c. at the cost of           d. in relation to

69. Having had a good sleep and a substantial meal in the inn,

    he felt thoroughly ______.

    a. remedied              b. relaxed

    c. recovered              d. refreshed

70. A man who could _______ such treatment was a man of 

   remarkable physical courage and moral strength.

    a. bear upon              b. stand up to

    c. insist on               d. persist in

Part IV Cloze

    There was a time when parents who wanted an educational present for their children would buy a typewriter, a globe or an encyclopedia set. Now those ( 71 ) seem hopelessly old fashioned; this Christmas, there were a lot of ( 72 ) computers under the tree. ( 73 ) that computers are the key to success, parents are also frantically insisting that children ( 74 )taught to use them in school as early as possible.

    The problem for schools is that when it ( 75 ) computers, parents don't always know best. Many schools are ( 76 )parental impatience and are purchasing hard ware ( 77 ) sound educational planning so they can say, "OK, we've moved into the computer age." Teachers ( 78 ) themselves caught in the middle of the problem between parent pressure and ( 79 ) educational decisions.

Educators do not even agree ( 80 ) how computers should be used. A lot of money is going for computerized educational materials ( 81 ) research has shown can be taught ( 82 ) with pencil and paper. Even those who believe that all children should ( 83 ) to computers, warn of potential ( 84 ) to the very young.

    The temptation remains strong largely because young children ( 85 ) so well to computers. First graders have been (86 ) willing to work for two hours on maths skills. Some have an attention span of 20 minutes. ( 87 ) school can afford to go into computing, and that creates ( 88 ) another problem: a division between the haves and have-nots. Very few parents are agitating ( 89 ) computer instruction in poor school districts,( 90 ) there may be barely enough money to pay the reading teacher.

71. a. items                b. toys    

   c. sets                 d. series

72. a. public                b. right  
   c. excited              d. personal

73. a. Given                b. Provided

   c. Convinced            d. Believed

74. a. are                  b. be   

   c. are being             d. were

75. a. talks about            b. comes to  

   c. turns to               d. mentions

76. a. ignorant of             b. blaming 

    c. yielding to            d. turning a deaf ear to

77. a. without               b. with     

   c. through               d. for

78. a. relied on              b. relaxed  

   c. freed                 d. found

79. a. wise                  b. busy  

   c. slow                  d. enough

80. a. on                    b. with   

   c. to                    d. about

81. a. those                  b. it    

   c. what                  d. that

82. a. equally                b. in the same way

   c. just as well             d. not as well

83. a. be open                b. have access 

   c. look                  d. turn

84. a. approaches             b. exposures 

   c. dangers                d. wonders

85. a. adopt                  b. keep 

   c. adapt                  d. devote

86. a. wantched               b. seen 

   c. told                    d. taught

87. a. Each                   b. Not every  

   c. No                     d. any

88. a. already                 b. though   

   c. so                     d. yet

89. a. for                    b. against  

   c. toward                 d. without

90. a. when                  b. in which 

   c. which                  d. where

Part V  Writing

For this part you are allowed 30 minutes to write a composition in no less than 100 words on the topic "Is Money Everything".You should base your composition on the following outline given in Chinese.

 1. 金钱是重要的.

 2. 金钱并非一切.

 3. 结论.

You can write the composition in three paragraphs. Remember to write it neatly.

Part III Translation from English into Chinese

 1. Para. 3, Passage 1

 2. Para. 2, Passage 2

 3. Para. 1, Passage 3

 4. Para. 3, Passage 3

 5. Para. 1, Passage 4

Key Seven

 1- 5 a  d  b  c  d     6-10 a  b  d  b  c

11-15 b  c  d  c  b    16-20 d  b  a  c  d

21-25 b  a  d  c  d    26-30 c  a  c  c  c

31-35 b  a  a  d  a    36-40 c  d  c  b  a

41-45 b  c  c  b  d    46-50 c  a  d  d  b

51-55 a  c  d  d  a    56-60 c  d  d  a  b 

61-65 c  a  c  a  c    66-70 d  a  a  d  b

71-75 a  d  c  b  b    76-80 c  a  d  a  a

81-85 d  c  b  c  c    86-90 b  b  d  a  d

_

               College English Practice Test 3

                      Band 4

Part I Listening Comprehension

 1. a. Betty will help if she is there this summer.

   b. Betty would probably be a good person to ask.

   c. Many people spend their holidays in London.

   d. They will enjoy themselves in London.

 2. a. The weather is changeable. 

   b. It will rain very soon.

   c. She hasn't read the newspaper

   d. The weather forecast is unreliable.

 3. a. He is tired of doing homework.

   b. He finds it hard to fall asleep.

   c. He is used to staying up all night.

   d. He has to finish his homework first.

 4. a. It won't be accepted by the teacher.

   b. Major revisions are needed in it.

   c. Its organization is perfect.

   d. Only a few changes should be made in it.

 5. a. The man and woman are operators.

   b. The man is trying to catch up with Tom.

   c. The man is telephoning Tom.

   d. The man and woman are very busy.

 6. a. Next April.                b. In two years.

   c. Next may.                 d. In three years.

 7. a. She wants to change her apartment.

   b. Her new apartment is close to the supermarket.

   c. Her new apartment is very beautiful.

   d. She can't see the beautiful view of the city.

 8. a. In February.            b. In January.

   c. In December.           c. In November.

 9. a. John is very intelligent.

   b. John should stay for his studies.

   c. John has got his Master's degree.

   d. John should go home and begin to work.

10. a. The man is satisfied with the girl.

   b. The girl will certainly get the job.

   c. They are being interviewed.

   d. The girl is an interviewer.

11. a. Cigarettes were not considered very harmful to people's
      health.

   b. Ordinary people could not afford cigarettes.

   c. Cigarette smoking was forbidden in many parts of the world.

   d. People were not satisfied with cigarette smoking.

12. a. More people began to smoke cigarettes.

   b. The quality of cigarettes was improved.

   c. Cigarette manufacturing machines were introduced.

   d. More different kinds of cigarettes could be produced.

13. a. Income.                    b. Education.

   c. Occupation.                 d. Personality.

14. a. Showing Charles Dickens's great memory.

   b. Telling people that Charles Dickens is a writer.

   c. Illustrating that great men usually have a good memory.

   d. Comparing Charles Dickens with other great men of the 
      world.

15. a. Because they are absent-minded in school.

   b. Because they are tired of learning it.

   c. Because they cannot understand the rules.

   d. Because they have so little time for it.

16. a. A good memory is very helpful in people's development.

   b. A man's mind is exactly like a modern camera.

   c. Man can keep a picture in his mind with no difficulty.

   d. Men's memory is usually better than women's memory.

17. a. 7 million.                b. 17 million.

   c. 70 million.               d. 77 million.

18. a. Early this century.         b. Around 1840.

   c. After 1930.              d. In the late 1800s.

19. a. By the coming of the automobile.

   b. In the 1960s. 

   c. 160 years ago.

   d. In the later 1800s.

20. a. The rising price of gas.

   b. People's concern for air pollution.

   c. The growth of bicycle production.

   d. The high quality of bicycles.

Part II Reading Comprehension

    Through a series of experiments an American scientist has obtained an understanding of the social structure of the most complex of ant societies. The ants examined are the only creatures other than man to have given up hunting and collecting for a completely agricultural way of life. In their underground nests they cultivate gardens on soil made from finely chopped leaves. This is a complex operation requiring considerable division of labour. The workers of this type of ant can be divided into four groups according to size. Each of the groups performs a particular set of jobs.

    The making and care of the gardens and the nursing of the young ants are done by the smallest workers. Slightly larger workers are responsible for chopping up leaves to make them suitable for use in the gardens and for cleaning the nest. A third group of still larger ants do the construction work and collect fresh leaves from outside the nest. The largest are the soldier ants, responsible for defending the nest. 

    To find out how good the various size-groups are at different tasks, the scientist measured the amount of work done by the ants against the amount of energy they used. He examined first the gathering and carrying of leaves. He selected one of the size-groups, and then measured how efficiently these ants could find leaves and run back to the nest. Then he repeated the experiment for each of the other size groups. In this way he could see whether any group could do the job more efficiently than the group normally undertaking it.

    The intermediate-sized ants that mormally perform this task proved to be the most efficient for their energy costs, but when the scientist examined the whole set of jobs performed by each group of ants it appeared that some sizes of worker ant were not ideally suited to the particular jobs they performed.

21. In what way are the ants different from other non-human 

    societies?

    a. They do not need to search for food.

    b. They do not need to look for shelter.

    c. Individuals vary in social status.

    d. Individuals perform different functions.

22. It seems that smaller ants perform more of the _______.

    a. construction tasks          b. defensive work

    c. domestic tasks             d. heavy work

23. "Good" (Line 1, Para. 3) refers to ants' ________.

    a. co-operation in working    b. sense of responsibility

    c. Efficiency in working      d. willingness to work hard

24. The scientist's work was based on ______.

    a. occasional observations    b. systematic observations

    c. observations of several nests

    d. observations of undisturbed nest

25. The organization of the ants has the effect of ______.

    a. getting the most work done

    b. dividing the work up systematically

    c. each ant helping with all the tasks

    d. each ant doing what it can do best

    One thing the tour books don't tell you about London is that 2,000 of its residents are foxes. They ran away from the city about two centuries ago after developers and pollution moved in. But now that the environment is cleaner, the foxes have come home.

    "The number and variety of wild animals in urban areas is increasing," says Gomer Jones. A survey of the wildlife in NewYork's Central Park last year counted 14 species of mammals (哺乳动物). a similar survey conducted in the 1890s counted only five species.
    Several changes have brought wild animals to the cities. Foremost is that air and water quality in many cities have improved as a result of the 1970s pollution-control efforts. Meanwhile, rural areas have been built up, leaving many animals on the edges of suburbs. In addition, urban wildlife refuges(庇护所) have been created. The Greater London Council last year spent $750,000 to buy land to build 10 percons (游鹰 ) cities are actually safer than rural cliff dwellings. By 1970 the birds had died out east of the Mississippi because of the DDT that had made their eggs too thin to support life. That year, scientist Tom Cade of Cornell University began raising the birds for release in cities, for cities afforded plenty of food.

    Cities can attract wild animals without turning them harmful. The trick is to create habitats where they can be self-sufficient but still be seen and appreciated. Such habitats can even be functional. In San Francisco, the local government is testing different kinds of rain water control basins to see not only which ones retain the cleanest water but which will attract the most birds.

26. The passage is primarily concerned with ______.

    a. wildlife returning to large cities

    b. foxes returning to London

    c. wild animals living in zoos

    d. a survey of wildlife in New York

27. It can be inferred from the passage that _______.

    a. Londoners are putting more and more wild animals into
      their zoos

    b. Londoners are happy to see wild animals return to their city

    c. Londoners are trying to move wild animals back to the
      countryside

    d. Londoners have welcomed the wild birds, but found foxes 
      a nuisance

28. According to the passage, the number of species of wildlife 
   in New York's Central Park _______.

    a. is slowly decreasing     

b.competes favorably with other cities

    c. is on the same level as before

    d. has more than doubled in the twentieth century

29.Which of the following is NOT a reason wildlife is returning to the cities?

    a. Air and water quality has improved in the cities.

    b. Wildlife is appreciated in the cities.

    c. Food is plentiful in the cities.

    d. Wildlife refuges have been built in the cities.

30. The word "habitat" (Line 2, Para.4) here means _______.

    a. a building for keeping wild animals

    b. a garden for growing plants

    c. a place for animals to live naturally

    d. a park where live animals are exhibited

     Play is the principal business of childhood, and more and more in recent years research has shown the vital importance of play in the development of a human being. From earliest infancy, every child needs adequate opportunity and the right material for play, and the main tools of play are toys. Their main function is to suggest, encourage and assist play. To succeed in this they must be good toys, therefore it is important to choose suitable toys for different stages of a child's development.

    In recent years research on infant development has shown the standard a child is likely to reach, within the range of his inherited abilities, is largely determined in the first three years of his life. Therefore a baby's ability to profit from the right play materials should be things to touch, things to listen to; things to watch. At no time in his life will a child develop as fast as now; in the first two years each month brings a change in what he can do and what he needs. A baby who is encouraged and stimulated, talked to, and shown things and played with, has the best chance of growing up successfully. There is no doubt that the right play materials and opportunities are of the utmost importance.

    The next stage, from three to five years old, is the heyday(全盛期) for toys, and at this stage curiosity knows no bounds. Every type of suitable toy should be made available to the child; bricks and jigsaws(拼板玩具) and construction toys; painting and making things; sand and water play; toys for imaginative and pretending play. Children of this age are concerned and serious when they play, for to them play is a serious business, and through it they are learning about the world and growing up.

    By the third stage of play development from five to seven or eight years the child is at school. But for a few more years play is still the best way of learning, at home or at school. The right toy at this stage can sometimes lead to the choice of a career.

    Until the age of seven or eight, play and work mean much the same thing to a child. But once reading has been mastered, then books and school become the main source of learning. Toys are still interesting and valuable, but their significance has changed to a child of nine or ten years, toys and games mean,as to adults, relaxation and fun.

31. From the passage we understand that a child _______.

    a. tends to be interested in toys

    b. matures through play over and over

    c. cannot mature without toys

    d. has to be taught how to play

32. In the writer's opinion the right kind of play materials for infants 
   _______.

   a. stimulate the talents     

   b. encourage visual awareness

   c. develop the touching sense 
   d. assist the aural responses

33. Children of three to five years old find play a serious
    business because they _______.

    a. are developing their muscles

    b. are exercising their imagination

    c. are acquiring knowledge through play

    d. are learning how to grow up

34. Once a child has learned to read, he usually _______.

    a. stops playing with toys

    b. learns less from his toys

    c. only gets information from books

    d. only learns when at school

35. It seems that older children and adults consider toys and
   games should _______.

    a. be played as a joke

    b. be played for amusement

    c. teach the players to learn something

    d. make the players feels funny

    The word conservation has a thrifty (节约) meaning. To conserve is to save and protect, to leave what we ourselves enjoy in such good condition that others may also share the enjoyment. Our forefathers had no idea that human population would increase faster than the supplies of raw materials; most of them, even until very recently, had the foolish idea that the treasures were "limitless" and "inexhaustible". Most of the citizens of earlier generations knew little or nothing about the complicated and delicate system that runs all through nature, and which means that, as in a living body, an unhealthy condition of one part will sooner or later be harmful to all the others.
Fifty years ago nature study was not part of the school work; scientific forestry(林学) was a new idea; timber was still cheap because it could be brought in any quantity from distant woodlands; soil destruction and river floods were not national problems; nobody had yet studied long-term climatic cycles in relation to proper land use; even the word "conservation" had nothing of the meaning that it has for us today.

    For the sake of ourselves and those who will come after us, we must now set about repairing the mistakes of our forefathers. Conservation should, therefore, be made a part of everyone's daily life. To know about the water table in the ground is just as important to us as a knowledge of the basic arithmetic(算术的) formulas. We need to know why all watersheds(水滨) need the protection of plant life and why the running current of streams and rivers must be made to yield their full benefit to the soil before they finally escape to the sea. We need to be taught the duty of planting trees as well as of cutting them. We need to know the importance of big, mature trees, because living space for most of man's fellow creatures on this planet is figured not only in square measure of surface but also in cubic(立体的)volume above the earth. In brief,  it should be our goal to restore as much of the original beauty of nature as we can.

36. The author's attitude towards the current situation in the
    exploitation of natural resources is _______.

    a. positive                b. natural

    c. suspicious              d. critical

37. According to the author, the greatest mistake of our forefathers 
   was that _______.

    a. they had no idea about scientific forestry

    b. they had little or no sense of environmental protection

    c. they were not aware of the significance of nature study

    d. they had no idea of how to make good use of raw materials

38. It can be inferred from the third paragraph that earlier 
   generations didn't realize______.

    a. the interdependence of water, soil, and living things

    b. the importance of the proper use of land

    c. the harmfulness of soil destruction and river floods

    d. the value of the beauty of nature

39. To avoid mistakes of our forefathers, the author suggests
    that _______.

    a. we plant more trees

    b. natural sciences be taught to everybody

    c. environmental education be directed toward everyone

    d. we return to nature

40. What does the author imply by saying "living space...is 

   figured ...also in cubic vulume above the earth" (Line 11-14,

    Para. 3)?

    a. Our living space on the earth is getting smaller and smaller

    b. Our living space should be measured in cubic volume.

    c. We need to take some measures to protect space.

    d. We must preserve good living conditions for both birds
       and animals.

Part III Vocabulary and Structure

41. Since the mid 1970s, medicine has _______ few new treatment
    triumphs in the war against cancer.

    a. seeded            b. shot

    c. sounded           d. scored

42. If you rub certain things together, their surfaces become _______
   static electricity.

    a. caught up with           b. charged with

    c. kept up with             d. put up with

43. Researchers cannot _______ the possibility that Earth may one 
   day run out of its orbit.

    a. rule out                b. hand out

    c. run out                 d. drop out

44. More quickly than anyone could have imagined, East Germany 
   is being _______ in the Western market economy.

    a. absorbed               b. adopted

    c. at first                 d. at length

45. What happened in that class probably reflects what is
    happening in society_______.

    a. at large                b. ar random

    c. at first                 d. at length

46. Like most animals, hens will work had for _______ to food.

    a. way                   b. subject

    c. intention               d. access

47. The _______ action of the policemen saved the people in the
   house from being burnt.

    a. supreme               b. significant

    c. prompt                d. vital

48. Topics for conversation should be ______ to the experiences 
   and interests of the students.

    a. remarkable             b. relevant

    c. inevitable              d. brilliant

49. The poor old woman can't _______ her hot water bottle.

    a. do without             b. do with

    c. do up                 d. do away with

50. This book was the _______ of a tremendous amount of 
   scientific work.

    a. output                  b. outlet

    c. outset                  d. outcome

51. The indecisive man was _______ persuaded into changing his
    mind.

    a. hardly                  b. unwillingly

    c. voluntarily              d. readily

52. Why did nature design us so carelessly that we eventually

    ______?

    a. break up                b. cut down

    c. fall apart                d. turn down

53. _______ the gas shortage, I am going to buy a compact car 
   this year.

    a. In front of              b. In place of

    c. In terms of              d. In view of

54.It's harmful to one's health to _______ smoking and drinking.

    a. taken on                b. take in

    c. take to                 d. take off

55. Some people either ______ avoid questions of right and 
   wrong or remain neutral about them.

    a. sincerely               b. enthusiastically

    c. uniquely                d. deliberately

56. As hard as nails; if a starving beggar were to ask her for a crust 
   of ______ bread she'd turn her back on him.

    a. stale                   b. sour

    c. rotten                  d. dry

57. _______ the amount she paid, I thought the car was dear in 
   more ways than one.

    a. As far as                b. As to

    c. Considering               d. Providing

58. Ten years had elapsed. I found she had ______.

    a. a little white hair           b. some white hair

    c. much white hair            d. a few white hairs

59.They did not find _______ to prepare for the worst conditions
   they might meet.

    a. worth they while           b. it worthwhile

    c. it worth                  d. it worthy

60. The great use of a school education is not much to teach you 
    things _______ to teach you the art of learning.

    a. than                     b. nor

    c. rather than                d. as

61. I intended _______ the matter with you, but I had some guests 
   then.

    a. discuss                   b. having discussed

    c. to have discussed           d. discussing

62. Many principles of jet propulsion(喷气推进) apply regardless of 

   ______ air or water is the fluid used.

    a. what                     b. that

    c. whether                  d. either

63. There was not a hut in the village _______ he had not brought 

    food and comfort.

    a. which                    b. to which

    c. that                      d. in which

64. Scarcely had we settled ourselves in our seats in the theatre 

    _______ the curtain went up.

    a. than                      b. when

    c. as                        d. after

65. ______ no mistake, you must recheck the results got from    the experiment.

    a. There is                 b. For there to be

    c. There being              d. Being

66. It is time we ______ computers to the production of iron and

    steel.

    a. will apply               b. applied

    c. have applied             d. would have applied

67. Man is superior to the animals _______ he uses language to

    convey his thoughts.

    a. that                    b. in that

    c. when                   d. in which

68. His improvement has made the design better than it _____.

    a. would otherwise be        b. has otherwise been

    c. would otherwise have been  d. will otherwise be

69. The speeding car had missed the turn and now lay on its 

   back, wheels _______ in the air.

    a. having spun              b. spun

    c. were spun                d. spinning

70. _______ all behavior is learned behavior is a basis assumption of 

   social scientists.

    a. Nearly                   b. It is nearly

    c. That nearly               d. When nearly

Part IV Cloze

    In future trade the key development to watch is the relationship between the industrialized and the developing nations. The ( 71 ) World countries export their mineral ( 72 )and tropical agricultural products, which bring them ( 73 )foreign exchange. Tourism has also been greatly responsible (74 ) the rapid development of some ( 75 ) nations. Many Third World nations with high ( 76 ) and low wages have seen an emigration of workers ( 77 ) the developed nations. Western Europe has ( 78 ) millions of such workers from Mediterranean countries. The developing nations profit ( 79 ) these workers bring their savings and their acquired technical skills ( 80 ) home. Many developing nations benefit when Western nations ( 81)

manufacturing in their countries to take (82 )of cheap labor.

    ( 83 ) economies mature, economic growth rates tend to level off(稳定). The rate of ( 84 ) growth is leveling off today in Western nations. This leveling off ( 85 ) leads to static non-growth markets. A point of saturation(饱和)( 86 )in-technology and innovation have seemed to achieve the impossible, ( 87 ) then how much further can it go? Herman Kahn, (88)his book The Next 200 Years, says that a shift in priorities will have to occur for industrialized nations. ( 89 ) is the creation of money and jobs essential; ( 90 ) is rather the improvement of the quality of life that must be our concern.

71. a. First                   b. Second  

   c. West                  d. Third

72. a. ranges                 b. scopes 

   c. deposits                d. products

73. a. desired                 b. possible 

   c. available               d. abandon

74. a. to                     b. for      

   c. towards                d. over

75. a. developed              b. powerful 

   c. industrialized            d. developing

76. a. employment             b. unemployment

   c. development             d. improvement

77. a. to                      b. by  

   c. at                     d. in

78. a. exploited               b. imported 

   c. received               d. specified

79. a. because                b. before 

   c. since                  d. when

80. a. down                  b. all   

   c. back                  d. outside

81. a. establish               b. decide  

   c. predict                d. mention

82. a. disadvantage            b. challenge

   c. advantage              d. privilege

83. a. Since                  b. As    

   c. Though                d. Whereas

84. a. economy               b. mankind 

   c. society                 d. population

85. a. relatively               b. eventually 

   c. sometimes              d. hardly

86. a. arrives                 b. reports 

   c. sets                   d. trusts

87. a. or                     b. but      

   c. for                    d. so

88. a. by                     b. from    

   c. after                   d. in

89. a. No longer               b. No doubt

   c. Of course               d. So far

90. a. it                      b. that 

   c. there                   d. which

Part V Writing

For this part you are allowed 30 minutes to write a composition in no less than 100 words on the topic "The Importance of Confidence". You should base your composition on the following outline given in Chinese.

1. 凡事均应有信心.

2. 没有信心的原因.

3. 建立信心是可能的.

You can write the composition in three paragraphs. Remember to write it neatly.

Part III Translation from English into Chinese

1. Para. 1, Passage 1

2. Para. 2, Passage 2

3. Para. 2, Passage 3

4. Para. 1, Passage 4

5. Para. 1, Passage 4

Key Eight

 1- 5 b  d  d  d  c       6-10 c  a  b  b  d

11-15 a  c  d  c  d      16-20 a  c  b  a  b

21-25 a  c  c  b  d      26-30 a  b  d  b  c

31-35 a  a  b  b  b      36-40 d  b  a  c  d

41-45 d  b  a  a  a      46-50 d  c  b  a  d

51-55 d  a  d  c  d      56-60 a  c  d  b  d

61-65 c  c  b  b  b      66-70 b  b  c  d  c

71-75 d  c  a  b  d      76-80 b  a  c  d  c 

81-85 a  c  b  d  b      86-90 c  b  d  a  a

_

College English Practice Test 4

Part I Listening Comprehension(20 minutes)

Section A

 1. a. Europe                  b. Here

   c. California              d. Canada.

 2. a. She has no idea where the graduation ceremony will be held.

   b. She thinks it is silly of the man to ask this question.

   c. She wants to know which school the man goes to.

   d. She definitely will not teach.

 3. a. The computer needs to be fixed.

   b. It may be difficult to grade this year's papers.

   c. The computer is not put in a safe place.

   d. Some teachers prefer to go over the papers by hand.

 4. a. He needn't do the experiment immediately.

   b. She doesn't believe the result of the experiment.

   c. He has to be very careful.

   d. Figures are very important in chemistry.

 5. a. He has been fined by the library.

   b. It was hard to carry all the books to the library.

   c. He doesn't want to help the woman.

   d. He is going to return 8 books.

 6. a. Yes, but not at a special low price.

   b. No, there are not any rugs left.

   c. No, they are not for sale.

   d. Yes, but she has to buy 4 rugs if she wants to pay less.

 7. a. The postman doesn't do a good job.

   b. She never receives any issues.

   c. The magazine always comes late.

   d. The magazine seems out dated.

 8. a. Soundproof his room.

   b. Take the typewriter to the repair shop.

   c. Tell his roommate to take sleeping pills.

   d. Work in the basement.

 9. a. Fred is a good accountant

   b. Tony likes his job.

   c. Tony hasn't worked very hard.

   d. Fred doesn't want to be an accountant.

10. a. She doesn't agree      b. She enjoys night driving.

   b. She would like to wait. d. They must set out tomorrow.

Section B

11. a. Be well prepared       b. Take no notice of it.

   c. Reexamine one's goal   d. Read the "spider story"

12. a. It bit him             

   b. It spun a web on him.

   c. It led him to the hiding place

   d. It taught him a lesson.

13. a. Failure: An Inevitable Part of Life.

   b. Learning From Failure.

   c. Fighting Against Failure 

   d. Living With Failure.

14. a. Positive                 b. Negative

   c. Neutral                  d. None of above

15. a. Creature                 b. Mountains

   c. Lake                    d. Fish.

16. a. Long and thick           b. Mysterious

   c. Changeable              d. Strange.

17. a. The creature is eager to be friendly to human beings.

   b. The big, strange fish is hard to catch.

   c. The lake has become a tourist attraction.

   d. The creature belongs to the family of animals that lived on the 

      earth millions of years ago.

18. a. A grandmother           

   b. A Frenchman.

   c. A character in the stories about animals.

   d. None of above.

19. a. Elizabeth Vergoose wrote the first Mother Goose stories.

   b. Thomas Fleet published the Mother Goose stories.

   c. Charles Perrault collected the Mother Goose stories.

   d. The children's stories were translated from French into

     English.

20. a. They were told by Elizabeth.

   b. They were written by Charles Perrault.

   c. The authors are unknown.

   d. They were based on the dance dramas.

Part II Vocabulary and  Structure(20 minutes)

21. ______ first place in the woman's ten meter platform diving 

   event, Xu Yianmei became China's first gole medal winner in

    the 1988 Summer Olympic Games in Seoul.

    a. To win               b. Being won

    c. Won                  d. Having won

22. Scientists agree that American's native Indian population came 

   from Siberia; however they disagree on the number and dates of 

   ______ migrations.

    a. typical                 b. singular

    c. specific                d. peculiar

23. ______, all matter is formed of molecules.

    a. It doesn't matter if the complex 

    b. No matter how complex

    c. How complex is not a matter

    d. It's not a complex matter

24. In 1850 California, the Golden State, was ______ to the Union.

    a. enrolled             b. admitted

    c. absorbed             d. enlisted

25. Some people find it ______ that Ronald Reagan began his 

   career as an actor in Califoria.

    a. surprisedly          b. surprised

    c. surprising           d. surprise

26. Children who are always ______ to by their parents soon 

   spoiled.

    a. given up             b. given out

    c. given away           d. given in

27. The retired worker, who once was a labour model, is still held 

    ______ in the cotton mill.

    a. in great respect     b. in a great respect

    c. in great respects    d. in the great respect

28. Some people hang ______ to their jobs long after they should 

   have retired.

    a. behind               b. back

    c. on                   d. up

29. Compared to the parents' expectation, what he has achieved 

   is ______ little.

    a. so far               b. far too

    c. too far              d. far from

30. More and more graduates of medical school ______ to  

   concentrate on limited areas of their professions.

    a. are tending          b. tend

    c. are tended           d. have tended

31. We know the old soldier ______ in the Liberation War.

    a. having once been injured

    b. having once injured

    c. to have once been injured

    d. to have once injured

32. Mr. Blair was reluctantly approved, the significant factor in his 

   favor being his ______ to the position.

    a. recess               b. excess

    c. approach              d. reproach

33. ______ could more effective ways to deal with inequities in 

   educational opportunity provide direct payments to families.

    a. Five years later     

    b. Only after five years

    c. After five years has passed.

    d. Five years after

34. It was urgent that they ______ the intellectual background to

    meet the challenge.

    a. should have          b. had to have

    c. would have had       d. could have had

35. It's true we won the match, but since the opposing team was 

   so obviously inferior to ours, our success does not  ______ 

    much.

    a. count for            b. count on

    c. count up             d. count out

36. ______appealing to his better nature, we persuaded the boy 

    to change his behaviour.

    a. Through              b. With

    c. By                   d. On

37. We can take care of this matter ______ payment is made in

    advance.

    a. in the hope that     b. regardless the fact that

    c. on the grounds that  d. on condition that

38. ______ her work was still not as good as she wanted it to be?

    a. It was why that      b. Why was it that

    c. That is why it       d. Why it is that

39. Many animals have evolved ______ ways of transferring

   environmentally learned information to other members of their

   species.

    a. complicated          b. composed

    c. completed            d. comprehended

40. The football match had to be cancelled on ______ of the awful 

   weather.

    a. point                b. occasion

    c. account              d. behalf

41. To my surprise, he hadn't realized______.

    a. that a girl she was pretty  

    b. what she was a pretty girl

    c. what a pretty girl she was

    d. what pretty a girl she was

42. Further arms limitation negotiations were ______ when

    congress failed to grant the treaty.

    a. held down            b. called off

    c. brought out          d. left behind

43. Should their plot have succeeded, that ______ to a repeat of old 

   society.

    a. has been leading     b. has led

    c. would lead           d. would have led

44. Nothing can discourage the girl_______ going ahead with her

    plans

    a. from                 b. against

    c. with                 d. about

45. ______ that the new faces are people who know the business 

   climate well.

    a. The fortunate        b. To be fortune

    c. Fortunately          d. It is fortunate

46. The age of a tree can be determined accurately be counting 

   the number of tree rings it has ______.

    a. achieved              b. developed

    c. worn                 d. grown

47. ______ professional baseball is played, the more certain it  

   becomes that Walter Johnson's shut-out record will never be 

    beaten.

    a. The longer than       b. How long

    c. However long         d. The longer

48. Certain diseases of the brain are suffered by human being_____.

    a. lonely               b. alone

    c. singly               d. solely

49. ______ of decorating houses at present, that of papering 

   interior walls was probably the most popular.

    a. All the mians        b. Of all the means

    c. Means of all         d. The means

50. Electrical resistence is a common property of all meterials, 

   ______.

    a. differs only in degree 

    b. it only differs in degree

    c. only in degree it differs

    d. differing only in degree

Part III. Reading Comprehension(35 minutes)

Questions 51 to 55 are based on the following passage:

    People can be addicted to different things,e.g., alcohol, drugs, certain foods, or even a television. People who have such an addiction(隐) are compulsive (强迫的); i.e., they have a very powerful psychological need that they feel they must satisfy. According to psychologists, many people are compulsive spenders. They feel that they must spend money. This compulsion, like most others, is irrational-- impossible to explain reasonably. For compulsive spenders who buy on credit(赊欠), charge accounts(赊购帐户)are even more exciting than money. In other words, compulsive spenders feel that with credit, they can do anything. (71) Their pleasure in spending enormous amounts is actually greater than the pleasure that they get from the things they buy.
    There is even a special psychology of bargain (廉价货)hunting. To save money, of course, most people look for sales, low prices, and discounts. Compulsive bargain hunters, however, often buy things that they don't need just because they are cheap. They want to believe that they are helping their budgets, but they are really playing an exciting game. When they can buy something for less than other people, they feel that they are winning. Most people, experts claim, have two reasons for their behavior: a good reason for the things that they do andthe real reason.

    It is not only scientists, of course, who understand the psychology of spending habits, but also business people. Stores, companies, and advertisers use psychology to increase business.  They consider people's needs for love, power, or influence, their basic values, their beliefs and opinions, and so on in their advertising and sales methods.

    Psychologists often use a method called "behavior therapy(疗法)"  to help individuals solve their personality problems. In the same way, they can help people who feel that they have problems with money.

51. According to the psychologists, a compulsive spender is one

    who spends large amounts of money______

    a. and takes great pleasure from what he or she buys.

    b. in order to satisfy his or her basic needs in life

    c. just to meet his or her strong psychological need

    d. entirely with an irrational eagerness

52. According to the writer, compulsive bargain hunters are in

   constant search of the lowest possible prices_______

    a. because they want to save money to help their budgets

    b. because they can openly boast of their triumph over

       others in getting thing for less

    c. and will not have money problems if they can keep to

       their budgets.

    d. but they seldom admit they feel satisfied if they can 

      get things for less than others

53. Which of the following is true?

    a. All people spend money for exactly the same reason that 

      they need to buy things.

    b. Business people and advertisers can use the psychology

       of money to increase sales.

    c. Business people understand the psychology of compulsive

       buying better than scientists do.

    d. Compulsive bargain hunters do not have problems with

       money.

54. The article is mainly about______.

    a. the psychology of money-spending habits

    b. the purchasing habits of compulsive spenders.

    c. a special psychology of bargain hunting

    d. the use of the psychology of spending habits in business

55. From the passage we may safely conclude that compulsive

    spenders or compulsive bargain hunters______.

    a. are really unreasonable

    b. need special treatment

    c. are really beyond remedies

    d. can never get any help to solve their problems with money

Questions 56 to 60 are based on the following passage:

    In what now seems like the prehistoric times of computer history, the earth's postwar era, there was quite a wide-spread concern that computers would take over the world from man one day.  Already today, less than forty years later, as computers are relieving us of more and more of the routine tasks in business and in our personal lives, we are faced with a less dramatic but also less foreseen problem.  72. People tend to be over-trusting of computers and are reluctant to challenge their authority. Indeed, they behave as if they were hardly aware that wrong buttons may be pushed or that a computer may simply malfunction(失误).

    Obviously, there would be no point in investing in a computer if you had to check all its answers, but people should also rely on their own internal computers and check the machine when they have the feeling that something has gone wrong.

    Questioning and routine double-checks must continue to be as much a part of good business as they were in precomputer days. maybe each computer should come with the warning for all the help this computer may provide, it should not be seen as a substitute for fundamental thinking and reasoning skills.

56. What is the main purpose of the this passage?

    a. To look back to the early days of computers

    b. To explain what technical problems may occur with

       computers

    c. To discourage unnecessary investment in computers

    d.To warn against a mentally lazy attitude towards computers

57. According to the passage, the initial concern about computers 

   was that they might ______.

    a. change our personal lives

    b. take control of the world

    c. create unforeseen problems

    d. affect our businesses

58. The passage recommends those dealing with computers to

    ______.

    a. be reasonably doubtful about them

    b. check all their answers

    c. substitute them for basic thinking

    d. use them for business purposes only

59. The passage suggests that the present-day problem with regard to

   computers is _______.

    a. challenging         b. psychological

    c. dramatic            d. fundamental

60. It can be inferred from the passage that the author would 

   disapprove of ______.

    a. investment in computers

    b. the use of one's internal computer

    c. double-checks on computers

    d. complete dependence on computers for decision-making

Questions 61 to 65 are based on the following passage:

    Among the most popular books being written today are those which are usually classified as science fiction. Hundreds of titles are published every year and are read by all kinds of people. Furthermore, some of the most successful films of recent years have been based on science fiction stories.

    73It is often thought that science fiction is a fairly new development in literature, but it can be found in books written hundreds of years ago. These books were often concerned with the presentation of some form of ideal society, a theme which is still often found in modern stories.

    Most of the classics of science fiction, however, have been written within the last one hundred years. Books by writers such as Jules Verne and H. G. Wells, to mention just two well-known authors, have been translated into many languages. Modern science fiction writers don't write about men from Marsor space adventure stories. They are more interested in predicting the results of technical developments on society andthe human mind or in imagining future world which reflects the world we live in now. Because of this, their writing has obvious political undertones(含意).

    In an age where science fact frequently overtakes(赶上)science fiction, the writers may find it difficult to keep ahead of scientific advances. 74.Those who see the future clearly can teach us how to master new technology and live in ara pidly changing world.
61. From the passage we know every  year______.

    a. many science fiction books are published

    b. many science fiction books are written

    c. a hundred science fiction books are published

    d. many books are classified as science fiction

62. You can find science fiction______. 

    a. only in modern literature

    b. only in books written for children

    c. in books written today and hundreds of years ago.

    d. as a new development in literature

63. Most of the classics of science fiction have been written 

   within______.

    a. the last few hundred years

    b. the last one hundred years

    c. the last two hundred years

    d. the last three hundred years

64. Modern science fiction writers are interested in______.

    a. writing about men form Mars

    b. writing about everything bout politics

    c. imagining future world with the results of technical 

      developments

    d. writing space adventure stories.

65. Science fiction writers may provide a valuable lesson on how to

   deal with the problems of ______

    a. conflict caused by different political theories

    b. adopting new technology and adapting quickly to its 

      effect on society.

    c. conflict caused by different religious beliefs

    d.space adventure

    Questions 66 to 70 are based on the following passage:

    Botany, the study of plants, occupies a peculiar position in the history of human knowledge. For many thousands of years it was the one field of awareness about which humans had anything more than the vaguest of insights. It is impossible to know today just what our Stone Age ancestors knew about plants,but from what we can observe of pre industrial societies that still exist, a detailed learning of plants and their properties must be extremely ancient. This is logical. Plants are the basis of the food pyramid for all living things, even for other plants. They have always been enormously important to the welfare of peoples, not only for food, but also for clothing, weapons, tools, dyes, medicines, shelter, and a great many other purposes. Tribes(部落) living today in the jungles of the Amazon(亚马逊河) recognize literally hundreds of plants and know many properties of each. To them botany, as such, has no name and is probably not even recognized as a special branch of "knowledge" at all.

    75Unfortunately, the more industrialized we become, the farther away we move from direct contact with plants, and the less distinct our knowledge of botany grows. Yet everyone come sun consciously on an amazing amount of botanical knowledge, and few people will fail to recognize a rose, an apple, or anorchid(兰花).  When our ancestors living in the Middle East about 10,000 years ago, discovered that certain grasses could be harvested and their seeds planted for richer yields the next season, the first great step in a new association of plants and humans was taken. Grains were discovered and from them flowed the marvel of agriculture: cultivated crops.    From then on, humans would increasingly take their living from the controlled production of a few plants, rather than getting a little here and a little there from many varieties that grew wild, and the accumulated knowledge of tens of thousands of years of experience and intimacy(熟悉) with plant in the wild would begin to fade away.

66. Which of the following assumptions about early humans is

    expressed in the passage?

    a. They probably had extensive knowledge of plants.

    b. They thought there was no need to cultivate crops.

    c. They did not enjoy the study of botany.

    d.They placed great importance on the ownership of property.

67. What does the comment "This is logical" in line 8 mean?

    a. There is no clear way to determine the extent of our 

      ancestor's knowledge of plant.

    b. It is not surprising that early humans had a detailed 

      knowledge of plants.

    c. It is reasonable to assume that our ancestors behaved 

      very much like people in preindustrial societies.

    d. Human knowledge of plants is well organized and very

       detailed.

68. In line 22 what is the author's purpose in mentioning "a rose, and

   apple, or an orchid"?

    a. To make the passage more poetic.

    b. To cite examples of plants that are attractive.

    c.To give botanical examples that all readers will recognize.

    d. To illustrate the diversity of botanical life.

69. According to the passage, what was the first great step toward

   the practive of agriculture?

    a. The invention of agricultural tools and machinery.

    b. The development of a system of names for plants.

    c. The discovery of grasses that could be harvested and 

      replanted.

    d. The changing diets of early humans.

70. The relationship between botany and agriculture is similar to 

    the relationship between zoology(the study of animals ) 

    and ______.

    a. deer hunting          b. bird watching

    c. sheep raising         d. horseback riding

Part IV Translation(15 minutes)

Directions: In this part, there are five items which you should translate into Chinese, each item consisting one or two sentences. These sentences are all taken from the Reading Passages you have just read in Part Three of Test Paper One. You are allowed 15 minutes to do the translation. You should refer back to the passages so as to identify their meanings in the context.

71. (Passage 1, Para. 1. Last Sentence)

Their pleasure in spending enormous amounts is actually greater than the pleasure that they get from the things they buy.

72. (Passage 2, Para.  1, Lines-7)

People tend to be over-trusting of computers and are reluctant to challenge their authority.

73. (Passage 3, Para. 2, Lines 1-2)

    It is often thought that science fiction is a fairly new development in literature, but it can be found in books written hundreds of years ago.

74. (Passage 3, Last Sentence)

Those who see the future clearly can teach us how to master new technology and live in a rapidly changing world.

75. (Passage 4, Para. 2, First Sentence)

Unfortunately, the more industrialized we become the farther away we move from direct contact with plants, and the less distinct our knowledge of botany grows.

Part IV Writing

Directions: For this part, you are allowed 30 minutes to write a composition entitled Population Control. You should write no less than 120 words and you should base your composition on the following outline(given in Chinese).

                     Population Control

1. 人口增长的原因主要是生活条件的提高.

2. 但是人口过分增长正在对人类本身构成威协.

3. 因此......

College English Practice Test 5

--Band Four--

Part I Spot Dictation and Listening comprehension(20 minutes)

Section A

Directions: In this section, you will hear a passage of about 120 words three times. The passage is printed on your Answer Sheet with about 50 words missing. First, you will hear the whole passage from the beginning to the end just to get a general idea of it.  Then, in the second reading, you will hear a signal indicating the beginning of a pause after each sentence, sometimes two sentences or just part of a sentence. During the pause, you must write down the missing words you have just heard in the corresponding space on the Answer Sheet. There is also a different signal indicating the end of the pause. When you hear this signal, you must get ready for what comes next from the recording. You can check what you have written when the passage is read to you once again without the pauses.

Did you ever hear an earth-shaking, window-rattling crash of thunder ( 1 ) ___________? It wasn't ( 2 ) _______________.It was a sonic boom(音爆)--a sound made by something (3) ____________. Anything that ( 4 ) ___________--an airplane, a bird, or even a ball--( 5 ) ________________. It makes waves.

    Most things never(6)____________ they make. But jet planes do. Supersonic planes ( 7 ) ________________________. When they fly this fast, ( 8 ) _____________________they have made. ( 9 )called a shock wave, which ( 10 ) __________________the plane in funnel( 漏斗) shape .

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions.  Both the passage and the questions will be spoken only once.  After you hear a question, you must choose the best answer from the four choices marked a, b, c and d. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard:

11. a. He knocked on the doors of nearby houses.

   b. He ran home to tell his father.

   c. He shouted to the men on the ships. 

   d. He was at a loss what to do. 

12. a. The ship was carrying wood for the shops and houses of

     the city.

   b. The ship was carrying oil, paint, and paper to ports in

     the Far East.

   c. The ship was carrying oil, paint and paper but not wood.

   d. The ship was carrying oil, paint, paper and wood from 

      the Far East.

13. a. The paper.

   b. The paper and a little of the oil.

   c. The paper and a little of the paint.

   d. The paper, the oil and the paint.

Passage Two

Questions 14 to 17 are based on the passage you have just heard:

14. a. The increase in driving offences.

   b. The increase in professional gangs.

   c. The increase in car stealing.

   d. The increase in car owners.

15. a. In Rockinghill Palace Road.

   b. In Southwell Park.

   c. One block away from Southwell Park.

   d. In an unlocked garage.

16. a. A thief had abandoned it by the roadside.

   b. Someone had borrowed it from the owner's wife.

   c. It was pulled away by the local police.

   d. The owner had forgotten where he had parked it.

17. a. To park the cars in the garages at night.

   b. To lock up their garages, where cars are kept at night.

   c. To lock up their cars wherever cars are kept.

   d. To keep their cars in locked garages.

Passage Three

Questions 18 to 20 are based on the passage you have just heard 
18. a. He often played the part of a happy family man.

   b. He always played the part of a good man.

   c. He seldom played the part of a good man.

   d. He never played the part of a happy family man.

19. a. He played Ross as a sad, angry man.

   b. He played Ross in a happy, simple way.

   c. He played Ross as a friendly uncle to the young Richard

   d. He played Ross as a happy family man.

20. a. Dunn was quite all right again.

   b. Dunn could not move about.

   c. Dunn could move about but he was still in pain.

   d. Dunn could move about but not sit down or stand up.

Part II Vocabulary and Structure(20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked a, b, c and d. Choose  the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

21. I insist _____this small present as a token of my appreciation.

    a. on your accepting     b. your accepting

    c. to your accepting     d. in your accepting

22. We were very tired because we _______for nearly six hours.

    a. were walking          b. have been walking

    c. had been walking      d. had been walked

23. The coach was ______his failure in the figure-skating

    competition.

    a. frightened into       b. astonished by

    c. afraid to             d. scared to

24. The explorer took only such men and things _____ he really 

    needed into the jungle with him.

    a. that                  b. what

    c. as                    d. which

25. At that time, America was faced with the problem of providing 

   for the many _____who were pouring into country.

    a. emigrants             b. migrants

    c. immigrants            d. inhabitants

26. ______built as a private home for Elvis Presley, Graceland is

    now open to the public.

    a. Although              b. Being

    c. It was                d. When

27. "Let's _______Maria and Helen this evening."Tom suggested.

    a. call in               b. drop in at

    c. stop on               d. look in on

28. My husband bought the blue coat for me, but I ______bought

    the brown one.

    a. will rather have      b. would rather to have

    c. would rather have     d. would have rather

29. Air is composed of _______gases including hydrogen, oxygen,

    and carbon dioxide.

    a. varied                b. variable

    c. differed              d. various

30. Many teachers dislike _______piles of exercises books.

    a. marking               b. to mark

    c. marked                d. being marked

31. When you ask me about Cynthia, what were you _____?

    a. meaning for           b. driving at

    c. intending for         d. intending to

32. The meeting was begun after ________.

    a. a two-hours delay

    b. a delay of two-hours

    c. a two-our delay

    d. a postponement of two-hours

33. In order to raise money Cathy had to _______some of her

   jewels.

    a. part from             b. part with

    c. do away with          d.  put up with

34. Nowhere else in the world ______more attractive scenery

    than in Switzerland.

    a. you can find          b. you have found

    c. can you find          d. have you found

35. The lawyer had some amazing experiences ______his military

    service.

    a. by                    b. for

    c. during                d. on

36. As the molecules move about, they constantly collide with

    one another as well as ______of the container.

    a. to the walls          b. the walls

    c. with the walls        d. against the wall

37. The police _______asked every resident whether _______seen

    the lost child.

    a. has ...he has         b. have..he has

    c. have ....they have    d. has...they have

38. The University of Michigan, _______in 1817, is located in 

    Ann Arbor, Michigan.

    a. which was found       b. which was founded

    c. that was found        d. that was founded

39. There is not ________enough money for a new car.

    a. nearly                b. almost

    c. practically           d. hardly

40. _____you can imagine, the children were very excited.

    a. While                 b. As

    c. When                  d. For

41. The sick man tried to say something, but I could hardly

    ______.

    a. make it over         b. make it out

    c. make it for          d. make it up

42. The teacher demanded _____his essay immediately.

    a. Tom hand in          b. that Tom hands in

    c. that Tom handed in   d. that Tom hand in

43. They _______the foreign visitor ______with flowers and 

    other presents.

    a. saw...to             b. saw...out

    c. sent...after         d. sent ....off

44. "Would you like to comment on Ann's qualifications?"

    "______the people in the company, Ann is the most skilled."

    a. In all               b. Of all

    c. From all             d. To all

45. I'll agree_____your proposal if you lower the the price.

    a. with                 b. to 

    c. on                   d. about

46. The California Gold Rush didn't ________wealth to many

    who traveled west to seek their fortune.

    a. bring                b. carry

    c. take                 d. hold

47. The captain of the ship _______the passengers that there

    was no danger.

    a. confined             b. insisted    

    c. ensured              d. assured

48. Please write your name in the _______space at the top of 

    the page.

    a. empty                b. hollow

    c. blank                d. vacant

49. The caves of Altamira, which were ______in northern Spain, 

   contain interesting paintings by early cave dwellers.

    a. found                b. invented

    c. discovered           d. created

50. Most supermarkets need a very spacious floor area, some-

    times at least ten times as big as ______of an ordinary

    shop.

    a. one                  b. those

    c. that                 d. the ones

Part III Reading Comprehension(35 minutes)

Direction s: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked a, b, c and d. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.

Questions 51 to 55 are based on the following passage:

    Man's relationship to the high seas today is that of man to the land thousands of years ago; he is a hunter taking what he finds at large in the ocean. But a change is coming. If we are still far away from farming the sea, a great deal of experimental work has nevertheless now been started.

    Highly successful experiments have been made in rearing flounder(比目鱼) in tanks and releasing them to stock the seas around the British coast. Russian scientists, having successfully transplanted fish from the Baltic to the Caspian Sea and Pacific salmon to the Atlantic, have suggested that the Atlantic ocean might be stocked with North Atlantic herring.

    Similarly encouraging results have been gained from experimental rearing of fish in enclosed areas. Small bays in Scotland have been closed in, stocked with fish and treated with fertilizer to increase food supplies. More recently, techniques have been developed for what night be called brooder(孵卵器) production of fish; the fish are raised and fattened in tanks supplied with warmed salt water. The possibilities of transferring these techniques to closed lochs(被陆地包围的海湾)warmed by the waste heat from atomic power stations are beginning to be evaluated.

    Further ahead are dreams of fencing off areas of the high sea with electronic barriers and curtains of gas bubbles andthe possibility of producing artificial currents which will carry accumulated nutrient(营养物) deposits from the depths to serve as fertiliers of the life in the upper levels of the sea.

    But so much research is now being carried on in so many countries and the field is so wide that speculation beyond fairly narrow limits would be foolish. What is certain is that we are moving into a much more active relationship with the ocean. Man is no longer content to catch what he finds in the ocean; he wants to take a hand in what lives there as well, andthe indications are that he will.

51. What is the aim of the experimental work mentioned in para-

    graph 1?

    a. To control the raising of fish, in the same way as a

       farmer controls his crops

    b. To find out where fish can be caught

    c. To get many fish from the sea as quickly as possible

    d. To control the tides and currents

52. The expression "at large" in the first paragraph is closest

    in meaning to which of the following?

    a. At full length;  with details

    b. At random

    c. At liverty; free

    d. Without definite aim

53. What similarity of purpose is there in the experiments

    of the Russians and British?

    a. They are both trying to find better ways of catching

       fish.

    b. They are both concerned with coastal fishing.

    c. They are both seeking to make fishing more productive.

    d. They are both trying to introduce new types of fish

       to their coastal waters.

54. The passage tells us that closed lochs _______.

    a. are being used to prevent waste heat from escaping

       from atomic power stations

    b. have been used for raising fish under favourable 

       conditions

    c. may one day be used to increase fish production

    d. may one day contain tanks used in the brooder

       production of fish

55. In the passage mention is made of the possibility of

    feeding fish in the open sea ______.

    a. by putting fertilizer in the water

    b. by using warmed salt water

    c. by using artificial currents to make the fish move

       to the upper levels where they can feed more easily

    d. by forcing food-stuff up from the bottom or lower parts

Questions 56 to 60 are based on the following passage:

    In Dexter there is a great whistle which is blown when a freeze threatens. It is known everywhere as Mr.Perkins' whistle.

    Now it sounded out in the clear night, blast after blast. Over the countryside lights appeared in the windows of the farms.Men and women ran out into the fields and covered up their plants with whatever they had while Mr.Perkins' whistle blew and blew.

    Jason Morton was not waked up by the great whistle. When he slept, his breathing sounded like roars coming from a hollow tree. His right hand had been thrown out, from some deepness he must have dreamed, and lay stretched on the could floor in the very center of a patch of moonlight which had moved across the room.

   Sara felt herself waking. She knew that Mr.Perkins' whistle was blowing, what it meant-- and that it now remained for her to get Jason and go out to the field. Then she was sitting up and seizing her husband by the shoulders, without saying a word, rocking him back and forth. It took all her strength to wake him. He coughed, his roaring was over, and he sat up. He said nothing either, and they both sat with bent heads and listened for the whistle. After a silence it blew again, a long, rising blast.

    Promptly Sara and Jason got out of bed. They were both fully dressed, because of the cold, and only needed to put on their shoes. Jason lighted the lantern, and Sara gathered the bed clothes over her arm and followed him out.

56. Which of the following best expresses the main point of the

    passage?

    a. There is a great whistle in Dexter known as Mr.Perkins'

       whistle.

    b. Men and women ran out into the fields.

    c. Jason and Sara had to wake up to cover their plants

    d. Jason and Sara wanted to sleep all night.

57. You can infer that people cover up their plants to keep

    them from ________.

    a. getting too wet            b. drying out

    c. getting too little shade   d. freezing

58. What did Jason do immediately after he waked up?

    a. He lighted a lantern and ran out into the fields.

    b. He put on his clothes and his shoes.

    c. He tried to wake his wife.

    d. He waited for a while to listen to the whistle.

59. It can be inferred from the passage that Sara and Jason will

    use the bedclothes to cover _______.

    a. themselves                b. their plants

    c. their children            d. Mr.Perkins' whistle

60. It can be inferred from the passage that ______.

    a. At this time of the year, it is very possible to have

       a freeze in this area

    b. There is no electricity in this area

    c. It must be late autumn when Mr.Perkins' whistle blows

    d. Sara usually gets up earlier than Jason every morning

Questions 61 to 65 are based on the following passage:

    There are robots all around us. Some do very complicated jobs like flying airplanes and driving subway trains. And some do one simple job.

    When an automatic washing machine is switched on, water pours in. The machine waits until the water is hot before washing the clothes. It does this by "feedback". Information about what is happening is "fed back" into the robot to tell it what to do next.

    Our eyes, ears and other senses are our feedback. They tell us what is going on around us. so robots are like people in two ways. They work and they have feedback.

    But very few robots look like people. Many are hidden away. Robots control the temperature of our houses. We can set the controls to the temperature we want. The robot does the rest. Its feedback usually comes from a thermostat.

    One kind of thermostat is a strip of metal which bends when it gets hot. At the right temperature, it bends just enough to work a switch. This turns off the heat. As the air around it cools, the metal straightens, and this turns the heat on again.

    In some ways robots are better than people. They work quickly, but do not make mistakes. They do not get bored doing the same job over and over again. And they never get tired.

    So robots are very useful in factories. They can be taught to do many different jobs. First their electronic brains must be shown how the job is done. A person moves the robot's  "arms"and "hands" through each part of the job. The robot's brain remembers each move. When the robot is put to work on its own, its brain controls the rods, wheels and motors which move its arm.

    When the robot is needed for a new job, its electronic memory is "wiped clean". Then it is taught how to do its new task.

If the robot's hand stops working, or if something gets in the way, it cannot do the next part of the job. So it stops and signals for help. Then a human engineer attends to the fault.

    Robots are also used for doing jobs which are dangerous.They can move objects which are too hot or too heavy for people to handle. they can work in places which are too hot or too cold for people. And they are not affected by poisonous gases.

    The most "intelligent" robots can move and see. Their eyes are cameras. Their metal fingers can feel shapes and even find out how hot and cold objects are. These robots have computer brains, linked to their eyes and fingers, which control their actions.

61. The word "feedback" in Line 1, para. 3 refers to ______.

    a. something used to feed the machine

    b. what we dream about

    c. information about how a machine or person is doing

    d. signals sent from our brains to direct our actions

62. The fact that a robot never gets bored doing the same job

    over and over again probably means that ________.

    a. it will do some jobs better than people.

    b. it will not do much better than people

    c. it is very much like people

    d. it can do any job better than people.

63. It can be inferred from the passage that ______.

    a. robots will probably take over in the future

    b. robots are machines that break down a lot

    c. robots are very helpful to humans

    d. robots will become more "intelligent" than people

64. The word "thermostat" (paragraph 4 ) refers to _____.

    a. a robot that is shaped like a thermometer

    b. a device that keeps the temperature even

    c. a container for hot drinks

    d. a device used to measure temperature

65. With what topic is the passage mainly concerned?

    a. The "Intelligent" Robots

    b. How to Make Robots

    c. Robots in Factories

    d. The World of Robots

Questions 66 to 70 are based on the following passage:

    Anthropologists(人类学者) classify the Navajo, or Dine people, as an Athapaskan people, once closely affiliated with other peoples found in present-day Canada and Alaska. They believe that the Navajo moved southward hundreds of years ago,eventually arriving in the Southwest. This relationship is especially evident in linguistic(语言的)ties. The Navajo language is considered an Apachean language and part of the general family of Na-dene languages.

    The precise time of the Navajo's appearance in the Southwest

is not fully agreed upon, but archaeological (考古学)evidence suggests that they have been in the region for at least 500 years. The Navajo tell of emerging into this world from earlier worlds. This history may be interpreted as a tale of migrations. The place of emergence and the first events of creation occur in the area of northern New Mexico where archaeologists first place the Dine in the Southwest.

66. The passage deals mainly with ______.

    a. a comparison of various Navajo legends

    b. the distinction between the terms Navajo and Dine

    c. the origins of the Navajo people

    d. the history of the Southwest

67. What kind of evidence is cited in the passage to show that

    the Navajo are related to peoples in Canada and Alaska?

    a. Archaeological findings

    b. Historical records

    c. Geographical location

    d. Linguistic relationships

68. According to the passage, it is most likely that the Navajo

    first settled in what is now the southwestern United States

    during _______.

    a. prehistoric times        b. the fifteenth century

    c. the nineteenth century   d. this century

69. The author implies that Navajo tales associate the Dine 

    appearance in North America with which of the following 

    regions?

    a. New Mexico                 b. Southwestern Mexico

    c. The northern United States d. Northern Canada

70. The word "affiliated" in the first paragraph means____.

    a. of a union of a man and woman as husband and wife

    b. of an association formed by uniting persons, groups, etc

    c. closely associated with another typically in a 

       subordinate position

    d. being related to the human race

Part IV Translation (15 minutes)

Directions: In this part, there are five items which you should translate into Chinese, each item consisting of one or two sentences. These sentences are all taken from Reading Passages you have just read in Part Three of the Test Paper. You are allowed 15 minutes to do the translation.  You should refer back to the passages so as to identify their meanings in the context.

71. (Passage 1, Para.5, Lines 1-3)

But so much research is now being carried on in so many countries and the field is so wide that speculation beyond fair-

ly narrow limits would be foolish.

______________________________________________________________________________________________________________72. (Passage 2, Pare.3, Lines 3-6)

Then she was sitting up and seizing her husband by the shoulders, without saying a word, rocking him back and forth. It took all her strength to wake him.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________

73. (Passage 3, Par. 7, Lines 5-7)

When the robot is put to work on its own, its brain controls the rods, wheels and motors which move its arm.  ___________________ _____________________________________________________________________________________________________________________________________________________________________74. (Passage 3, Par. 10, Lines 1--3)

Robots are also used for doing jobs which are dangerous. They can move objects which are too hot or too heavy for people tohandle._____________________________________________________________________________________________________________________________________________________________

75. (Passage 4, Para. 2, Lines 1--4)

The precise time of the Navajo's appearance in the Southwest is not fully agreed upon, but archaeological evidence suggests that they have been in the refion for at least 500 years.________________________________________________________________________________________________________________________________________________________________ Part V Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic Novel Reading. You should write at  least 100 words and you should base your composition on the outline(given in Chinese) below:

   1. 许多人喜欢利用空闲时间阅读小说
   2. 有的小说能帮助人们开阔视野,启迪人生.

   3. 然而,低级趣味的小说会给社会造成危害.

                     Novel Reading 

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Key

1. on a clear, sunny day         2. really thunder you heard

3. traveling faster than sound   4. moves through the air

5. pushes on the air ahead of it  6. catch up with the waves

7. can fly faster than sound travels

8. they slame into the waves of air

9. This creates a tremendous air wave  10. spreads out behind

11-15 c  c  a  c  a    16-20 d  c  d  a  c

21-25 a  c  b  c  c    26-30 a  d  c  d  a

31-35 b  a  c  b  c    36-40 c  b  b  a  b 

41-45 b  d  d  b  b    46-50 a  d  c  c  c

51-55 a  c  d  c  d    56-60 c  d  d  b  a

61-65 c  a  c  b  d    66-70 c  d  b  a  c

College English Practice Test 6

--Band Four--

Part I Spot Dictation and Listening comprehension(20 minutes)

Section A

Directions: In this section, you will hear a passage of about 120 words three times. The passage is printed on your Answer Sheet with about 50 words missing. First, you will hear the whole passage from the beginning to the end just to get ageneral idea of it.  Then, in the second reading, you will hear a signal indicating the beginning of a pause after each sentence, sometimes two sentences or just part of a sentence. During the pause, you must write down the missing words you have just heard in the corresponding space on the Answer Sheet. There is also a different signal indicating the end of the pause. When you hear this signal, you must get ready for what comes next from the recording. You can check what you have written when the passage is read to you once again without the pauses.

    At one time, ( 1 ) _________________________________ were invented, there was only one possible way (2 )_______________of Asia and Africa. ( 3 ) _______________. That's why the camel has been called " ( 4 ) _________________. "

    While there are many things about the camel that make him( 5 ) _______________________________________________________in the desert, ( 6 ) __________________________is the hump on his back. ( 7 ) _______________________is to serve as ( 8 )_______________________ . When that hump is empty, ( 9 )__________________________ and flops (松散地悬挂) to one side in flabby (松软的)folds. There is ( 10 )___________________; it is made of fat and muscle.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions.  Both the passage and the questions will be spoken only once.  After you hear a question, you must choose the best answer from the four choices marked a, b, c and d. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard:

11. a. Professionals can participate in Olympic Games while amateurs cannot.

    b. Amateurs receive money for taking part in sports.

    c. Professionals receive money for participating in sports.

    d. Both A and C.

12. a. Cause-serious problems for society.

   b. Encourage good character and "sportsmanship."

   c. Make no contribution to society.

   d. Encourage violence and drug abuse.

13. a. Some of them were using illegal drugs.

   b. They set a good example for youngsters.

   c. They were regarded as heroes.

   d. They gave terrific performances.

Passage Two

Questions 14 to 17 are based on the passage you have just heard:

14. a. The members were never all absent from the rehearsals.

   b. The band lacked some musical instruments.

   c. The drummer was always present at the rehearsals.

   d. The members were never all present at any one of the rehearsals.

15. a. At the beginning of the rehearsal.

   b. In the middle of the rehearsal.

   c. Near the end of the rehearsal.

   d. At the end of the rehearsal.

16. a. The names of those who were present every time.    

   b. The names of those who were absent from the various rehearsals.

   c. The names of those who were present at the last rehearsal.

    d. The names of those who were going to perform in the show.

17. a. That the only musician who was present at every rehearsal could not come to the show the next day.

   b. That the drummer was a shy person.

   c. That only one musician attended every rehearsal.

   d. That the drummer failed to attend the last rehearsal.

Passage Three

Questions 18 to 20 are based on the passage you have just heard

18. a. By keeping their boxes under light.

   b. By shocking any rat who went into a dark area.

   c. By placing some delicious food in those lighted box.

   d. By infecting part of a lion's brain into his rats.

19. a. That a person who eats the heart of a lion can gain the lion's courage.

   b. That rats prefer lighted boxes to dark ones.

   c. That learned information can be passed to other animals from the ones who did the learning.

   d. That mice have high intelligence.

20. a. Mice that got the trained brain spent more time in the dark than mice that got the untrained brain.

   b. Mice, unlike rats, normally prefer the light.

   c. Dr. Ungar injected part of the brains of untrained rats into 132 mice.

   d. None of the above.

Part II Vocabulary and Structure(20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked a, b, c and d. Choose  the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

21. A ________firms are having trouble with industrial relations.

    a. great many         b. great deal of

    c. plenty of          d. large part of

22. Dr.Earle was group leader for a team of five female researchers who spent two weeks _______in an undersea habitat(栖息地) off the Virgin Islands in the Caribbean.

    a. to live and work   b. living and working

    c. living and to work  d. in living and to be working

23. Scientific satellites _________scientific instrument which can gather various information about space.

    a. bring              b. carry

    c. take               d. fetch

24. _______the two houses I prefer the more isolated one.

    a. Among              b. In

    c. Of                 d. To

25. The herbs can ________a wide range of discase.

    a. cure               b. heal

    c. deal with          d. restore

26. Compounds can be divided into a number of different classes, 

   ________are acids, bases and salts.

    a. whose most important

    b. which of most important

    c. the most important compound of which

    d. the most important of which

27. Most housewives keep a needle and _______handly in case something needs mending in a hurry.

    a. thread             b. cord

    c. string             d. rope

28. There are plenty of fishes in the sea. Some live near the top of the sea.__________live deep down.

    a. the other           b. others

    c. other              d. another

29. ________hikers called for help when they lost their way in the woods.

    a. Scary              b. Scared

    c. Frightening        d. Afraid

30. On no account ________to feed the animals.

    a. visitors are allowed  

    b. are allowed visitors 

    c. are visitors allowed

    d. do visitors allow

31. I don't think you entirely appreciate the significance of the meetings that are currently being ________in the Middle East.

    a. assisted           b. gather

    c. carried out        d. held

32. We would just as soon stay at home _______go for a walk.

    a. than               b. but

    c. as                 d. so

33. Food, clothing, and shelter are considered the minimal

     _________for the country's poor.

    a. necessary          b. essential

    c. necessities        d. need

34. I wish to shake hands with you , __________?

    a. shall I            b. may I

    c. do I               d. will I

35. Expecting the worst, ________.

    a. the movie surprised me by being good

    b. I was surprised that the movie was good

    c. the good movie was a surprise to me

    d. surprising me was a good movie

36. The handful of medical researchers who _________deep-sea drivers  _______more research rather than a change in diving practices.

    a. studies...wants    b. studies...want

    c. study...want       d. study...wants

37. Despite the temporary difficulties, the manager prefers creasing the output to ______it.

    a. decrease           b. decreased

    c. decreasing         d. being decreased

38. Fresh lakes and rivers provide a(n)____ of income to many North American fishermen.

    a. form               b. origin

    c. course             d. source

39. Nutritionists (营养学家) _________goat milk to be rick, nourishing, and readily digested.

    a. consider           b. is considered

    c. are considered     d. considering

40. Her type of woman can ________life much more easily.

    a. cope with          b. take advantage of

    c. take care of       d. look after

41. It's a pity for _________any disagreement in the family.

    a. there to be        b. there being

    c. there be           d. being

42. The enemy had no way out but _______.

    a. surrender          b. surrendering

    c. to be surrendered  d. to surrender

43. At the head of the valley we turned right and ________the summit.

    a. made for           b. went for

    c. help up            d. set up

44. It is the high humidity _______makes London winters so chilly, not the low temperature.

    a. which              b. that 

    c. what               d. this

45. "Did you go sailing last weekend?"

    "No. We would have gone, ________nicer."

    a. had the weather been

    b. would the weather be

    c. if the weather has been

    d. if the weather might be

46. The information _______by artificial satellites helped scientists to send manned space craft safely into space.

    a. sent down          b. sent off

    c. sent back          d. sent on

47. Factory workers who are exposed to constant noise may

   gradually _______from a loss of hearing.

    a. stand              b. bear

    c. endure             d. suffer

48. "What did the teacher tell you?"

    "She recommended _______with an American family."

    a. that I live        b. me to living

    c. I living           d. living for me

49. Hurricanes from the Gulf of Mexico have caused considerable

   _________to coastal cities in Texas.

    a. harm               b. injury

    c. damage             d. spoilage

50. Not that the English book is difficult to read, ______he has no time.

    a. now that           b. in that

    c. as for             d. but that

Part III Reading Comprehension(35 minutes)

Direction s: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked a, b, c and d. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.

Questions 51 to 55 are based on the following passage:

    For more than a century, the two major parties in America have been the Democratic and the Republican parties. But from time to time, other parties have been created. A new party informed when a group of people is not happy with the two major parties. This party is called a "third party."

    One example of a third party is the Populist Party. In the 1880's and 1890's, farmers were not satisfied with the two major parties. Farmers were not making much money. They called for an inflation of the currency. This mean making more money available to the people. They were also unhappy about the railroads. Railroads charged high prices for shipping their goods. Farmers wanted government to control the railroads. The two major parties did not agree with the farmers.

    In 1892, farmers form all over the country met. They formed a third party called the People's Party, or the Populist Party. The members of the party drew up a list of goals. These goals included government ownership of all transportation and communication systems and the inflation of the currency. The party also tried to get support from workers in the cities. It called for an eight-hour work day.

    In 1892, the Populist Party ran James Baird Weaver for president. Baird did not win the election. However, he received many votes-more than one million. Many other Populist candidates did win their elections. They were elected governors, senators, and congressmen.

    In 1896, the Populist Party did not run a candidate for president. It supported the Democratic candidate, William Jennings Bryan. Gradually, most members left the Populist Party to join the Democratic Party. The Populist Party was not strong enough to survive. But it is an example of how a need for change can result in the creation of a new party.

51. The central idea of the passage is that third parties are formed when ________.

    a. a group is unhappy with the two major parties

    b. the two major parties are not strong enough to survive

    c. people are not making enough money

    d. unemployment is high

52. According to the passage, the farmers were dissatisfied with the two major parties because the Democrats and Republicans ______.

    a. wanted the government to own the railroads.

    b. called for an inflation of the currency

    c. did not agree with the farmers' goals

    d. charged high prices for shipping goods

53. As it is used in the second paragraph of the passage, the word "currency" means _________.

    a. the state of being in common use or general acceptance

    b. a general tendency or course of movement of events

    c. a piece of metal, use, flat and round, made by a 

       government for use as money

    d. the particular type of money in use in a country

54. According to the passage, all of the following were the farmers' goals EXCEPT ________.

    a. an eight-hour work day

    b. reduced unemployment

    c. government control of the communication systems

    d. inflation of the currency

55. According to the passage, most people left the Populist Party to join _______.

    a. the Democratic Party

    b. the Republican Party

    c. the People's Party

    d. another third party

Questions 56 to 60 are based on the following passage:

    Caffeine is a chemical that can be found naturally in coffee, tea, kola nuts, and cocoa. Caffeine can also be made in the laboratory, and the chemical is often added to soft drinks and medicines. Tests have proved that caffeine affects the body by increasing the heart rate and rhythm, which in turn affects the circulatory system. Caffeine also stimulates the secretion(分泌液) of acids in the stomach, and it increases urination(排尿).

    In-1972, a team of scientists issued a report on the health problems associated with caffeine. These scientists linked heavy caffeine use with heart disease. The suggested that people should limit their caffeine intake.

Recently, Dr. B.K.Smerl disputed the 1972 report on caffeine. The doctor stated in a medical journal that he had spent four years studying caffeine. He claimed that his study proved that caffeine could not be linked with heart disease. He said that caffeine is actually good for the body because it stimulates the system. Caffeine, the doctor claimed, makes the body operate more effectively.

    Several doctors commented on this study to the press."It's difficult to take this report seriously," Dr.Wilson, of Hooker Medical School, stated. "The study was funded by a company that uses caffeine in its products. I won't believe this report until the study is also conducted by a more impartial researcher."

56. Which of the following statements from the passage is an opinion?

    a. People should limit their caffeine intake.

    b. Caffeine speeds up the heart rate.

    c. Caffeine stimulates the secretion of stomach acids.

    d. Caffeine was linked to heart disease in a 1972 study.

57. With which of the following statements would Dr. Wilson most likely agree?

    a. Dr.Smerl's study on caffeine was conducted in an impartial, scientific manner.

    b. Dr. Smerl's study was fixed to show that caffeine isn't harmful.

    c. Another study will confirm that caffeine is good for the body.

    d. Additional research on caffeine was not necessary after the 1972  study.

58. Which of the following statements from the passage is a fact?

    a. Caffeine does not cause heart disease.

    b. Dr.Smerl's study did not prove that caffeine can be linked to heart disease.

    c. Dr.Smerl's study was based on unreliable data.

    d. People have been consuming on much caffeine.

59. As used in the last paragraph of the passage, the word "impartial" means_______.

    a. good or quick at thinking

    b. having or showing good sense, the ability to understand what 

      happens and decide on the right action

    c. having the ability or skill to do what is needed

    d. fair; giving equal attention to all concerned

60. According to the passage, you can conclude that _____.

    a. caffeine is a chemical which is good for man's health

    b. heart disease is linked with heavy-caffeine-intake

    c. it is uncertain whether caffeine does people good or harm

    d. caffeine has no effect on heart disease

Questions 61 to 65 are based on the following passage:

    Before the 1870's trained nurses were virtually unknown in the United States. Hospital nursing was an unskilled occupation taken up by women of the lower classes, some of whom were conscripted(征召) from the penitentiary(教养所) or the almshous(救济院). The movement for reform originated not with doctors, but among upper-class women, who had taken on the role of guardians of a new hygienic order. Though some doctors approved of the women's desire to establish a nurses' training school, which would attract the daughters of the middle class, other medical men were opposed. Plainly threatened by the prospect, they objected that educated nurses would not do as they were told-a remarkable comment on the status anxieties of nineteenth-century physicians. But the women reformers did not depend on the physicians' approval. when resisted, as they were at Bellevue in efforts to install trained nurses on the maternity wards(产科病房), they went over the heads of the doctors to men of their own class of greater power and authority.(Florence Nightingale, who had friends high in the English government, had followed exactly the same course in reforming her country's military hospitals.) Professional nursing, in short, emerged neither from medical discoveries nor from a program of hospital reform initiated by physicians; outsiders saw the need first.

61. Which of the following is the BEST title for the passage?

    a. Public Hygiene in the United States

    b. Florence Nightingale: a Nurse's Story

    c. The Fight for Nursing Education in the United States

    d. Health Care in Upper-and-lower-Class Neighborhoods

62. According to the passage, nurses in the United States in the 1850's could best be described as _____.

    a. poor, untrained women

    b. young medical students

    c. wives of military officers

    d. middle-class men and women

63. The author states that the first advocates(提倡者) of  nursing training in the United States were ________.

    a. medical men              b. upper-class women

    c. professional nurses.     d. military commanders

64. According to the passage, some doctors objected to the establishment of nursing schools because they believed that ________.

    a. nursing was an art that could not be taught

    b. additional medical care from nurses was unnecessary

    c. volunteer nurses from the upper class were adequate

    d. educated nurses would undermine their authority

65. It can be inferred from the passage that Bellevue (Line15) was a 

   _______.

    a. hospital                b. university

    c. government agency       d. women's penitentiary

Questions 66 to 70 are based on the following passage:

   Can earthquakes be predicted? To answer the question, scientists are looking very closely at the most active fault systems in the country, such as the San Andreas fault in California. A fault is a break between two sections of the earth's surface. These break between sections are the places where earthquakes occur. Scientists look at the faults for changes which might show that an earthquake was about to occur. But, although we understand a great deal about earthquakes and earthquake belts, it will probably be many years before we can predict earthquakes accurately. And the control of earthquakes is even farther away.

    Nevertheless, there have been some interesting developments in the field of controlling earthquakes. The most intriguing(有迷惑力的) development concerns the Rocky Mountain Arsenal earthquakes near Denver, Colorado. Here, in 1962, water was put into a layer of rocks 4000 meters below the surface of the ground. Shortly after this injection of water, there was a small number of earthquakes. Did the injection of water cause the earthquakes? Scientists have studied these earthquakes and they have decided that the water which was injected into the rocks worked like oil on the fault. The two layers of earth along the fault were pressing hard against each other. when the water "oiled" the fault, the fault became slippery and the energy of an earthquake was released. Scientists are still experimenting at the site of these earthquakes, but they realized quickly that there was a connection between the injection of the water and the earthquake activity. since everyone agrees that there is  a connection, people have suggested that it might be possible to use this knowledge to prevent very big, destructive earthquakes; that is, scientists could inject some kind of fluid like water into faults and change one big earthquake into a number of small, harmless earthquakes. Thus, man cannot control the major movements of the earth's surface which cause earthquakes.

66. On the basis of the information of the passage, the word "fault" (paragraph 1 ) means _______.

    a. a mistake or imperfection

    b. a bad point, but not of a serious moral kind, in someone's character

    c. a crack in the earth's surface, where one band of rock has slid against another

    d. a mistake in a service, which may lose a point

67. what are earthquake belts?

    a. Maps that show where earthquakes are most likely

    b. Zones with a high probability of earthquakes

    c. Breaks between two sections of the earth's surface

    d. The two layers of earth along a fault.

68. The San Andreas fault is ________.

    a. an active fault system

    b. a place where earthquakes have been predicted accurately

    c. a place where earthquakes have been controlled

    d. the location of the rocky Mountain Arsenal

69. At the Rocky Mountain arsenal, what did scientists learn about

   earthquakes?

    a. They occur at about 4000 meters below ground level.

    b. The injection of water into earthquake faults prevents earthquakes from occurring.

    c. They are usually caused by oil in the faults.

    d. It is possible that harmful earthquakes can be prevented by causing small, harmless earthquakes.

70. What can be said about the experiments at Rocky Mountain Arsenal?

    a. They have no practical value in earthquake prevention.

    b. They may have practical value in earthquake prevention.

    c. they are certain to have practical value in earthquake prevention.

    d. the article does not say anything about their practical value in 

      earthquake prevention.

Part IV Translation (15 minutes)

Directions: In this part, there are five items which you should translate into Chinese, each item consisting of one or two sentences. These sentences are all taken from Reading Passages you have just read in Part Three of the Test Paper. You are allowed 15 minutes to do the translation.  You should refer back to the passages so as to identify their meanings in the context.

71. (Passage 1, Para. 5, Lines 4-6)

The Populist Party was not strong enough to survive. But it is an example of how a need for change can result in the creation of a new party.

______________________________________________________________________________________________________________72. (Passage 2,  Para.4, Lines 3-6)

"The study was funded by a company that uses caffeine in its products. I won't believe this report until the study is also conducted by a more impartial researcher.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________73. (Passage 3, Lines 10-13)

Plainly threatened by the prospect, they objected that educated nurses would not do as they were told-a remarkable comment on the status anxieties of nineteenth-century physicians.

_____________________________________________________________________________________________________________________________________________________________________74. (Passage 3, Lines 15--18)

When resisted, as they were at Bellevue in efforts in efforts to install trained nurses on the maternity wards, they went over the heads of the doctors to men of their own class of greater power and authority. _____________________________________________________________________________________________________________________________________________________________________

75. (Passage 4, Lines 8--10)

But, although we understand a great deal about earthquakes and earthquake belts, it will probably be many years before we can predict earthquakes accurately.____________________________ ______________________________________________________________________________________________________________

Part V Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic Facts about Great Britain. You should write at least 100 words and you should base your composition on the following map and key data:   

A. the Map of Great Britain(See the following page.)

b. Key data about Great Britain 

 ---from the south coast of England to John o'Groats in the north of Scotland: 600 miles

 ---from Wales in the west to East Anglia in the east: 300 miles 

 ---cliate: mild, damp

 ---population: 50,000,000

 ---area: 94,000 square miles

                 Facts about Great Britain

_____________________________________________________________________________________________________________________________________________________________________

College English Practice Test 7

Band Four

Part I Listening Comprehension 

Section A

 1. a. The price for the coffee is fair.

   b. The price is cheap.

   c. The price is not expensive.

   d. The price is expensive.

 2. a. It makes no difference to him which they go to.

   b. He does not want to go to either one.

   c. The play and the movie are about the same subject.

   d. He does not like either one.

 3. a. 2:00 a.m.             b. 12:00 noon.

   c. 7:00 p.m.             d. 2:00 p.m.

 4. a. Today.                b. Tomorrow.

   c. Next week.            d. The day after tomorrow.

 5. a. She can't unlock the door.

   b. She has lost the key.

   c. She wants to wait till the man comes.

   d. She wants to have a rest.

 6. a. 3 times.              b. 6 times. 

   c. 9 times.              d. 10 times.

 7. a. Skating.              b. Skiing.

   c. Bowling.              d. Golf.

 8. a. By car.               b. By plane.

   c. By bus.               d. By train.

 9. a. At a supermarket.     b. At a bar.

   c. At a library.         d. At a dormitory.

10. a. In the back of the store.

    b. In the front of the store.

    c. On the right of the store.

    d. On the left of the store.

Section B
11. a. Oil.                 b. Automobiles.

   c. Stock.               d. Advertisement.

12. a. In New York City.    b. On Wall Street.

   c. In Michigan.         d. In Texas.

13. a. Ask the public to sell the products.

   b. To sell things secretly.

   c. To make the public interested in the products.

   d. To make more products.

14. a. When farmers can't feed the city people.

   b. When soldiers can't fight.

   c. When scientists can't make progress.

   d. When artists can't make inventions

15. a. Beside the main roads.

   b. On the top of mountains.

   c. By the river side.

   d. In the middle of fields.

16. a. Rivers.              b. Canals.

   c. Mountains.           d. Fields.

17. a. There is less land.

   b. The weather is cold.

   c. There is salt in the top soil.

   d. All of above.

18. a. Because without air the plane can't fly.

   b. Because the plant needs air for its refueling.

   c. Because the passengers' lives depend on air.

   d. Because the passengers have paid for it.

19. a. The plane would not go forward.

   b. The plane would explode.

   c. The plane would fall down.

   d. The plane would fly slowly.

20. a. To find out exactly what happens.

   b. To save fuel.

   c. To fly even more slowly.

   d. To keep balance.

Part II Vocabulary and Structure

21. I ________a long pole in the centre of the field, and on top of it
   I hung the lamp.

    a. put up              b. put on

    c. put out             d. put up with

22. We all _________ the achievements he has made in his 
   experiments.

    a. admire              b. adopt

    c. advise              d. adjust

23. If the test taker finds an item to which an answer is not known, it 
   may be ______ to leave it blank and go on with the test.

    a. valuable            b. advisable

    c. considerable        d. probable

24. Though the long term _______cannot be predicted, the 
   project has been approved by the committee.

    a. affect              b. effort

    c. effect              d. afford

25. The teacher's lecture on American history was three hours

    long, and Morris felt very _______.

    a. upset               b. bored

    c. disturbed           d. neglected

26. It's surprising that this innocent-looking person should

    have __________such a crime.

    a. performed           b. made

    c. acted               d. committed

27. Ted agreed to ________the strike if the company would satisfy
   the demand of the workers.

    a. call out            b. call off

    c. call to             d. call on

28. Not long ago, John Smith, whom you know very well, was 

    _________a car accident.

    a. related to          b. involved in

    c. included in         d. damaged by

29. All particulars should be carefully checked. Nothing should

    be ________.

    a. born in mind        b. put up with

    c. taken for granted   d. taken into consideration

30. We've been ________with that company for many years.

    a. comparing           b. dealing

    c. keeping             d. combining

31. This multiple-choice test _______40 incomplete statements

    with several choices to complete them.

    a. is composed of      b. consists in

    c. makes up            d. comprises of

32. In the theatre the actors are very _______to the reaction of the 
   audience.

    a. sensible            b. sensitive

    c. emotional           d. positive

33. He wore dark glasses to avoid ______.

    a. having been recognized

    b. to be recognized

    c. recognized

    d. being recognized

34. It _______around nine o'clock when I drove back home 
   because it was already dark.

    a. had to be           b. must have been

    c. was to be           d. must be

35. There was a teapot fashioned like a China duck, out of ___

    open mouth the tea was supposed to come.

    a. which               b. its

    c. that                d. whose

36. ______being used in industry, laser can be applied to operations
   in the hospital.

    a. Except for          b. In addition to

    c. Out of              d. In spite of

37. ______on a clear day, far from the city crowds, the mountains 
   give him a sense of infinite peace.

    a. If walking          b. Walking

    c. While walking       d. When one is walking

38. The Viking are believed ________America.

    a. to have discovered  b. to discover

    c. in discovering      d. to have been discovered

39. Husband and wife with a common duty to the country will 
   find themselves _______closer together.

    a. been drawn          b. to draw

    c. drawn               d. drawing

40. Prisons in some countries are short of staff, ______means

    each prison officer is overworked and underpaid.

    a. which               b. this

    c. what                d. it

41. _______you return those books to the library immediately

    you will have to pay a fine.

    a. Until               b. If

    c. Unless              d. Provided

42. So little ________about mathematics that the lecture was  
  completely beyond me.

    a. I know              b. I knew

    c. do I know           d. did I know

43. ______the 1500's _______ the first European explored the 
   coast of California.

    a. It was not until/then    

    b. It is not until/when

    c. It is until/that

    d. it was not until/that

44.Here we found little snow, as most of it seemed _______blown 
  off the mountain.

    a.to have been          b. to be

    c. that it was          d. that it had been

45. The ground was black ______ants, great energetic ants that  
   were busy running back and forth.

    a. for                  b. in

    c. by                   d. with

46. I told him how to get here but perhaps I _______him a map.

    a. should have given    b. ought to give

    c. had to give          d. must have given

47. The replacement of shops such as the grocer's and chemist's by 
   cafes ________ the housewives with insufficient facilities for
   shopping.

    a. leave                b. have left

    c. has left             d. is leaving

48. He came all the way to China for promoting friendship

    ________for making money.

    a. other than           b. more than

    c. better than          d. rather than

49. Every dog that came _____ sight was a terror to me.

    a. in                   b. to

    c. on                   d. at

50. He was running ________the pace he had learnt from the 

    natives.

    a. on                   b. at

    c. by                   d. in

Part III Reading Comprehension

A green I-538 form is used by international students in order to obtain permission from the Immigration and Naturalization Service to transfer from one university to another in the United States. If you are planning to transfer, remember that you must obtain the permission before leaving the university where you are currently studying. You must complete the form I-538, have it signed by the foreign student advisor, and submit it to the District Office of the Immigration and Naturalization Service together with the form I-20 from your new school and the small white form I-94 that was affixed to your passport when you entered the country.

Submitting the signed I-538 and other documents does notinsure permission to transfer. Only an official of Immigration can decide each case. 71. Students who have not complete done term of study at the school that issued them their first I-20 are not advised to file for permission to transfer until they have completed one term.
51. A transfer form is called an ________.

    a. I-20           b. I-94

    c. I-538          d. I-520

52. If you want to transfer it is a good idea to _______.

    a. travel to the new university immediately so that the 
      foreign student advisor can help you

    b. study at the university where you have permission until

       you receive a new permission from Immigration

    c. sign an I-538 form and leave it at your current univer-

       sity before traveling to the new university

    d. leave the country so that you can enter on another I-20

       from the new university

53. In order for you to transfer, permission must be granted

    by an official at the _______.

    a. foreign student advisor's office

    b. new university

    c. Immigration office

    d. Passport office

54. The transfer form must be signed by the _______.

    a. foreign student advisor at the new school

    b. foreign student advisor at the current school

    c. student himself

    d. Immigration officer

55. This passage is mainly about _______.

    a. the Immigration and Naturalization Service

    b. how to get a passport

    c. how to obtain permisson to transfer from one university

       to another

    d. studying in the United States

    Sometimes we cry because we are sad and sometimes we are because extremely happy. An irritant, such as onion smell orgrain  of sand in the eye, can also make us cry. In this cast ears perform an obvious role in getting rid of substances that might harm the delicate surface of the eye.

Dr. William Frey of the Dry Eye and Tear Research Centre at St. Paul in Minnesota, USA, believes that tears from emotional causes may perform a similar role. 72. He thinks that crying could get rid of emotional stress by washing away a chemical in the blood caused by strong emotions. To prove his theory, he hopes first to identify this chemical and then see if it is found in tears of sadness or happiness.

    So far, Dr. Frey has failed to distinguish between emotional tears  and tears caused by an irritant in the eye.  This  may  be  because  these  substances themselves cause a degree of stress and emotion. What he has identified in all tears is a variety of biochemicals(生化物) which are one of the causes of stress. A more detailed study may help us understand why sufferers from stress-related disorders cry less often than healthy people. Dr.Frey is also interested to see if there are any  physiological(生理学的) explanations for why women, in general, cry five times more often than men, on average.

56. The main purpose of Dr.Frey's study of tears is to _______.

    a. show that there are two types of tears, caused by 
      irritants and by emotions

    b. find out the cause of stress-related problems and emotional 
       disorders

    c. explain why women cry more often than men

    d. prove that tears can remove a chemical in the blood

       caused by strong emotions

57. Which of the following is NOT true according to the passage?

    a. Healthy people cry more often than those with stress-

       related problems

    b. Tears help get rid of emotional stress.

    c. Irritants in the eye result in tears without causing

       stress and emotion

    d. The ciochemicals identified by Dr.Frey are linked 

       with stress.

58. It can be inferred from the passage that ________.

    a. crying does us more harm than good

    b. tears of sorrow don't cause any chemicals in our

       blood

    c. inner feelings control our bodies in mysterious ways

    d. emotional tears are different from tears caused by

       irritants in the eye

73. The average population density of the world is 47 persons per square mile. Continental densities range from nonpermanent inhabitants in the Antarctic to 211 per square mile in Europe.  In the western hemisphere, population densities range from about 4 per square mile in Canada to 675 per square mile in Puerto Rico. In Europe the range is from 4 per square mile in Iceland to 831 per square mile in the Netherlands. Within countries there are wide variations of population densities. For example, in Egypt, the average is 55 persons per square mile, but 1,300 persons inhabit each square mile settled portions where the land is arable(可耕种的).

High population densities generally occur in regions of developed industrialization, such as the Netherlands, Belgium, and Great Britain, or where lands are intensively used for agriculture, as Puerto Rico.

Low average population densities are characteristic for most underdeveloped countries. Low density of population is generally associated with a relatively low percentage of cultivated land. This generally results from poor quality lands. It may also be due to natural obstacles to cultivation, such as deserts and mountains; to land uses other than cultivation, as pasture(牧场) and forested land; to primitive methods that limit cultivation and to social obstacles.

74. More economically advanced countries of low population density have, as a rule, large proportions of their population living in urban areas.  Their rural (农村的) population densities are usually very low. Poorer developed countries of correspondingly low general population density, on the other hand, often have a concentration of rural population living on arable land,  which is as great as the rural concentration found in the most densely populated industrial countries.

59. Which of the following could be the best title of this

    passage?

    a. Population and Economy    b. Population and Civilization

    c. Population Distribution   d. Population Densities

60. It can be inferred from the passage that ______.

    a. Europe is the most densely populated continent

    b. In Europe there are still some underdeveloped places

    c. Puerto Rico is a very densely populated country in Asia

    d. Canada is one of the most densely populated countries

61. Which of the following is TRUE of Egypt?

    a. Its average population density is 1300 persons per 

       square mile.

    b. More people in Egypy like to live in arable land.

    c. There are almost no variations of population densities 

       in Egypt.

    d. Fewer people in Egypt are found to live along the banks

       of the Nile.

62. It is implied in the passage that in forested areas of the world
   ______.

    a. more land of good quality is found

    b. the density of population is relatively low

    c. there are usually no permanent inhabitants

    d. most people live on animal hunting

63. It can be inferred from the passage that ______.

    a. urban development can be found in highly industrialized

       communities

    b. there is no change in population density in developed

       countries

    c. large areas of arable land might be used for house

       construction

    d. economically advanced countries usually have wide

        variations in population density

64. What is the purpose of the last paragraph?

    a. To introduce the achievements of some countries.

    b.To compare the population densities of different countries.

    c. To tell the readers of population explosion.

    d. To describe the greatness of highly developed countries

I'm perfectly aware that I could like an old bad-tempered man and it frightens me more than it offends you. But I have accepted what educators can't seem to face. The function of schools, their first and primary obligation, is not to probetender souls, to feed and clothe the homeless, nor to be the papa and mama a kid never had. The job is to teach.

The teacher's job is to know his subject, inside out, and backward forward. 75 Nothing discourages a student more than to have a teacher who doesn't know his or her stuff. Incompetence (不胜任) they cannot endure. Neither can I.

A teacher was, ideally, someone who knew a certain body of information and conveyed it. Remember old Miss Cinwiddie, who could learn by heart 40 lines of the "Aeneid" at a clip? Picture Mr. Wassleheimer, who could give a zero to a cheating student without pausing in his lecture on frog dissection(解剖).

Every student knew that it wasn't wise to waste time with a teacher who had the subject down cold. They were the teachers we admired later.

    I want them back, those fearsome, awe-inspiring experts. I want them back because they knew what a school was for and didn't waste any time getting on with the task at hand. They were hard, even at times unjust, but when they were through, we knew those multiplication(增加,增多) tables blindfolded(蒙住眼睛)

with both trembling hands tied behind our backs.

    Which is crueler? Flunking a kid who has flunked or passing a kid who has flunked? Which teaches more about the realities of life? Which, in fact, shows more respect for the child as a human being?

65. The best statement of the main idea of the passage is that

    ________.

    a. the author is tired of teaching lazy students

    b. the function of schools is to make students happy

    c. teachers must know their subject well

    d. teachers must be blamed for poor scholastic performance       of students

66. The author's attitude toward his thesis(论点) can best be
    described as which of the following?

    a. Light-hearted          b. Bored

    c. Optimistic             d. Serious

67. It can be inferred from the first paragraph that the author

    thinks _______.

    a. he is more aware of the real educational issues than

       most educators

    b. he can be a good friend of those kids who have lost 
      their parents

    c. the function of schools is to feed and clothe those 

       homeless children

    d. most educators do not dare to face the realities of life

68. Which of the following can best replace the word "flunking"

    (the last para.)?

    a. Failing.               b. Passing

    c. Criticizing.           d. Dismissing

69. Which of the following is TRUE?

    a. The author is against equal opportunity in education.

    b. A teacher should be strict with his students.

    c. It is better to pass students who have failed.

    d. The author doesn't know his subject well.

70. Which of the following would be discussed after this 

    passage?

    a. The author's attitude toward students who have failed.

    b. Something about the realities of life.

    c. How to treat little children as human beings.

    d. An introduction to Freudian theories.

Part IV   Translation

71. (Passage 1 , Pare. 2, Lines 3-6)

Students  who  have  not complete done term of study at the school  that  issued  them  their  first I-20 are not advised to file for permission to transfer until they have completed one term. 

72. (Passage 2, Pare. 2, Lines  3-5)

He thinks that crying could get rid of emotional stress by washing away a chemical in the blood caused by strong emotions.

73. (Passage 3, Para. 1, Lines 1-4)

The average population density of the world is 47 persons per square mile. Continental densities range from no permanent inhabitants in the Antarctic to 211 per square mile in Europe. 

74. (Passage 3, Para. 1, Lines  1-3)

More  economically  advanced  countries  of low population density have, as a rule, large proportions of their population living in urban areas. 

75. (Passage 4, Para. 2, Lines  2-3)

Nothing discourages a student more than to have a teacher who doesn't know his or her stuff.

Part V Writing 

Directions: For this part, you are allowed 30 minutes to write a composition on the topic Health and Sports. You are given the first sentences of each paragraph and are required to develop its idea in completing the paragraph. You should write about 120 words for the whole composition. Remember to write clearly. You should write this composition on the Answer Sheet.

                  Health and Sports

1. Good health is very important to everyone._________________

1. _________________________________________________________________________________________________________________________2.Sports help everyone to keep healthy.___________ ________________________________________________________________________________________________________________________3.Since sports can result in good health,________________________________________________________________________________________________________
Simulated Test 3

Key to Test 3

 1 - 5 d  a  a  b  a        6-10 b  a  c  c  a  
11-15 b  a  c  a  d       16-20 c  c  c  b  a

21-25 a  a  b  c  b       26-30 d  b  b  c  b 
31-35 a  b  d  b  d       36-40 b  d  a  c  a

41-45 c  d  d  a  d       46-50 a  c  d  a  b  
51-55 c  b  c  b  c       56-60 d  c  c  d  a

61-65 b  b  a  b  c       66-70 d  a  a  b  a

Translation for Reference

71. 在发给他们第一张 I-20(表格)的学校没有学满一个学期的学

    生是不允许申请转学的, 直至他们学满一个学期为止.

72. 他认为哭泣可以冲刷掉由于感情过于强烈而在血液中形成

   的一种化学物质, 从而摆脱感情压力.

73. 世界的平均人口密度为每平方英里47人. 大陆人口密度从南

    极洲的永久民到欧洲的平方英里 211人不等.

74. 一般说来, 人口密度低而经济比发达的国家, 其大部分人口

    都居住在城市地区.

75. 没有什么比有一个不懂其授课内容的老师更令学生沮丧的

    了.

Model Essay for Writing

                     Health and Sports

    Good health is very important to everyone. A healthy person can always be energetic and enjoy life whatever things may be.Poor in health, a person can not achieve much success though he is well educated.

    Sports help everyone to keep healthy. Physical exercises can increase the circulation of the blood, and thus more oxygen is taken into and more waste is expelled from the body. Physical exercises can increase appetite and digestion. A person who takes exercises spends more energy. The more energy he spends, the more blood he uses. New blood requires food to keep it pure. Sports can also make our minds sound. While playing we take our minds off work or study. As a result, our minds are relaxed.

    Since sports can result in good health, we should take an active part in sports for some time every day no matter how busy we are.

